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1. �>OE=<F5?L=4O 74?<E>4 

�>D<4F<6=O5 >E=>64=<O 

�>?>?=<F5?L=4O >5M5>5D47>64F5?L=4O ?D>7D4<<4 3 <G=<F<?4?L=>7> 5N465F=>7> 
>5M5>5D47>64F5?L=>7> GGD5645=<O «%5OE<=E>4O L>>?4-<=F5D=4F» D47D45>F4=4 6 E>>F65FEF6<< 
E >E=>6=O<< =>D<4F<6=O<< < ?D>7D4<<=O<< 4>>G<5=F4<< 6 >5?4EF< >5D47>64=<O $$:  
$545D4?L=O5: 
÷ �>=EF<FGF<O $$. �E=>6=>= �4>>= $>EE<=E>>7> 7>EG44DEF64 (12.12.1993 7.)  
÷ &DG4>6>= >>45>E $$. 
÷  $545D4?L=O= 74>>= $>EE<=E>>= $545D4F<< >F 29 45>45DO 2012 7. N 273-$� "�5 
>5D47>64=<< 6 $>EE<=E>>= $545D4F<<" (G4EFL 11, EF4FLO 13). 
÷ $545D4?L=O= 74>>= "�5 >E=>64E E<EF5<O ?D>D<?4>F<>< 557=447>D=>EF<  
< ?D46>=4DGL5=<= =5E>65DL5==>?5F=<E" >F 24.06.1999 7. 7 120-$�. (�D<=OF �>EG44DEF65==>= 
�G<>= 21.05.19997., 6 D544>F<< $545D4?L=>7> 74>>=4  
>F 13.01. 20017. 7 1-$�). 
÷ $545D4?L=O= 74>>= >F 22.08.2004 7. 7122-$� "� 7>EG44DEF65==>= ?>445D6>5 <>?>456=OE 
< 45FE><E >5M5EF65==OE >5N54<=5=<=". 
÷ �4F<>=4?L=4O >5D47>64F5?L=4O <=<F<4F<64 «�4L4 =>64O L>>?4», GF65D645==4O 
�D57<45=F>< $>EE<=E>>= $545D4F<< 04 D56D4?O 2010 7. �D-271;  
÷ �?4= 45=EF6<= ?> <>45D=<74F<< >5M57> >5D47>64=<O =4 2011-2015 7>4O, GF65D645==O= 
D4E?>DO65=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<<  
>F 7 E5=FO5DO 2010 7>44 N 1507-D; 
÷ $545D4?L=O= 7>EG44DEF65==O= >5D47>64F5?L=O= EF4=44DF =4G4?L=>7> >5M57> >5D47>64=<O 
(GF65D645= ?D<>47>< �<=<EF5DEF6>< ?D>E65M5=<O $>EE<=E>>= $545D4F<< >F 31.05.2021 7. 7 
286) 
÷ $545D4?L=O= 7>EG44DEF65==O= >5D47>64F5?L=O= EF4=44DF >E=>6=>7> >5M57> >5D47>64=<O, 
GF65D645==O= ?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 
17.12.20107. 71897 (D54. >F 31.12.2015) 
÷ $545D4?L=O= 7>EG44DEF65==O= >5D47>64F5?L=O= EF4=44DF ED54=57> >5M57> >5D47>64=<O 
(GF6. ?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $$ >F 17 <4O 2012 7. 7 413) E <7<5=5=<O<< 
< 4>?>?=5=<O<< >F: 29 45>45DO 2014 7., 31 45>45DO 2015 7., 29 <N=O 2017 7., 24 E5=FO5DO, 11 
45>45DO 2020 7. 

÷ �>?>65=<5 > ?<F5=7<D>64=<< >5D47>64F5?L=>= 45OF5?L=>EF< (6 D54. �>EF4=>6?5=<O 
�D46<F5?LEF64 $$ >F 19.07.2012 N 731, >F 24.09.2012 
 N 957). 
÷ �5F>4<G5E><5 D5>><5=44F<< '?D46?5=<O 6>E?<F4=<O < 4>?>?=<F5?L=>7> >5D47>64=<O 
45F5= < <>?>4U6< �<=>5D47>64=<O $>EE<< ?> D476<F<N 4>?>?=<F5?L=>7> >5D47>64=<O 45F5= 6 
>5M5>5D47>64F5?L=OE GGD5645=<OE. (�D<?>65=<5 > ?<EL<G �<=>5D47>64=<O $>EE<< >F 
11.06.2002 7. 7 30-15-433/16). 
÷ �D<>47 �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 29 467GEF4 2013 
7.71008 «�5 GF65D645=<< ?>DO4>4 >D74=<74F<< < >EGM5EF6?5=<O >5D47>64F5?L=>= 
45OF5?L=>EF< ?> 4>?>?=<F5?L=O< >5M5>5D47>64F5?L=O< ?D>7D4<<4<»; 
÷ �>EF4=>6?5=<5 �?46=>7> 7>EG44DEF65==>7> E4=<F4D=>7> 6D4G4 $>EE<=E>>= $545D4F<< >F 
28.09.2020 7. 7 28 "�5 GF65D645=<< E4=<F4D=OE ?D46<? %� 2.4.3648-20 "%4=<F4D=>-
M?<45<<>?>7<G5E><5 FD55>64=<O > >D74=<74F<O< 6>E?<F4=<O < >5GG5=<O, >F4OE4 < 
>74>D>6?5=<O 45F5= < <>?>456<". 
÷ %4=�<� 2.4.4.3172-14. "%4=<F4D=>-M?<45<<>?>7<G5E><5 FD55>64=<O > GEFD>=EF6G, 
E>45D64=<N < >D74=<74F<< D56<<4 D45>FO >5D47>64F5?L=OE >D74=<74F<= 4>?>?=<F5?L=>7> 
>5D47>64=<O 45F5=. 
$57<>=4?L=O5: 

- �4>>= >5 >5D47>64=<< 6 /<4?>-�5=5F>>< 46F>=><=>< >>DG75 7 55-��� >F 27.06.2013 
�G=<F<?4?L=O5: 
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- �>EF4=>6?5=<5 7 1073 >F 19.11.2020 ">5 GF65D645=<< �>?>65=<O >5 >D74=<74F<< 
?D54>EF46?5=<O 4>?>?=<F5?L=>7> >5D47>64=<O 45F5= 6 <G=<F<?4?L=OE >5D47>64F5?L=OE 
>D74=<74F<OE, D4E?>?>65==OE =4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O /<4?LE><= D4=>=" 
'GD5645=G5E><5: 

- 'EF46 �';                                                                                                          
- GG55=O= ??4= ?> 4>?>?=<F5?L=><G >5D47>64=<N L>>?O; 
- ??4= 6>E?<F4F5?L=>= D45>FO =4 GG55=O= 7>4. 
&5?< 4>?>?=<F5?L=>7> >5D47>64=<O  

�E=>6=>5 ?D54=47=4G5=<5 4>?>?=<F5?L=>7> >5D47>64=<O - G4>6?5F6>D5=<5 <=>7>>5D47=OE 
?>FD55=>EF5= 45F5= 6 ?>7=4=<< < >5M5=<<, >>F>DO5 44?5>> =5 6E5744 <>7GF 5OFL D54?<7>64=O 6 
D4<>4E ?D54<5F=>7> >5GG5=<O 6 L>>?5.  

�>?>?=<F5?L=>5 >5D47>64=<5 45F5= ?> ?D46G D4EE<4FD<645FEO >4> 646=5=L4O 
E>EF46?ONM4O >5D47>64F5?L=>7> ?D>EFD4=EF64, E?>6<6L57>EO 6 E>6D5<5==>< D>EE<=E>>< 
>5M5EF65. �=> E>F<4?L=> 6>EFD55>64=>, FD55G5F ?>EF>O==>7> 6=<<4=<O < ?>445D6>< E> 
EF>D>=O >5M5EF64 < 7>EG44DEF64 >4> >5D47>64=<5, >D74=<G=> E>G5F4NM55 6 E555 6>E?<F4=<5, 
>5GG5=<5 < D476<F<5 ?<G=>EF< D555=>4. �E=>6G E>6D5<5==>7> 4>?>?=<F5?L=>7> >5D47>64=<O 
45F5=, < MF> EGM5EF65==> >F?<G45F 57> >F FD44<F<>==>= 6=5L>>?L=>= D45>FO, E>EF46?O5F 
<4ELF45=O= >5D47>64F5?L=O= 5?>>. �45EL >5GG5=<5 45F5= >EGM5EF6?O5FEO =4 >E=>65 D45>G<E 
?D>7D4<<, D47D45>F4==OE, >4> ?D46<?>, E4<<<< ?5447>74<<. "�7N<<=>4" 4>?>?=<F5?L=>7> 
>5D47>64=<O E>EF><F 6 F><, GF> 6E5 57> ?D>7D4<<O ?D54?474NFEO 45FO< ?> 6O5>DG, 6 
E>>F65FEF6<< E <E <=F5D5E4<<, ?D<D>4=O<< E>?>==>EFO<< < E?>E>5=>EFO<<.  

�>?>?=<F5?L=4O >5D47>64F5?L=4O ?D>7D4<<4 O6?O5FEO ?DO<O< ?D>4>?65=<5< 547>6>= 
>5D47>64F5?L=>= ?D>7D4<<O < 44UF ?D< MF>< 45FO< =5>5E>4<<O5 4?O 6<7=< ?D4>F<G5E><5 
=46O><. '=<>4?L=O= >5D47>64F5?L=O= ?>F5=F<4? 4>?>?=<F5?L=>7> >5D47>64=<O 6 44?L=5=L5< 
<>65F 4>F<6=> <E?>?L7>64FLEO 6 ?D>F5EE5 66545=<O ?D>D<?L=>7> >5GG5=<O =4 ED54=5< GD>6=5 
>5M57> >5D47>64=<O. 

,<D>> E?5>FD 6>7<>6=>EF5= 4>?>?=<F5?L=>7> >5D47>64=<O 6 ??4=5 >D74=<74F<< 
6=5GD>G=>= 45OF5?L=>EF< 45F5= 74 ?D545?4<< 6D5<5=<, >F6545==>7> =4 >E=>6=O5 L>>?L=O5 
?D54<5FO. �4 5475 4>?>?=<F5?L=>= >5D47>64F5?L=>= ?D>7D4<<O, D47D45>F4==>= ?> D47?<G=O< 
=4?D46?5=<O< F6>DG5E>>= 45OF5?L=>EF< 45F5=, 6 L>>?5 45=EF6GNF >DG6><, E?>DF<6=O5 E5>F<<, 
E>>F65FEF6GNM<5 <=>7>>5D47<N <=F5D5E>6 >5GG4NM<EEO. -F> ?>76>?O5F 4>F<6<7<D>64FL 
?<G=>EF=GN E>EF46?ONMGN >5GG5=<O, G6<45FL 6 45FOE =5 F>?L>> >5GG4NM<EEO, => < 6<6OE 
?N45= E> E6><<< ?D54?>GF5=<O<<, <=F5D5E4<<, E>?>==>EFO<<, E?>E>5=>EFO<<.  

'G4EF<5 L>>?L=<>>6 6 F6>DG5E><E >>??5>F<64E ?> <=F5D5E4< ?>76>?O5F >464><G D555=>G 
D54?<7>64FL E55O 6 <=OE, =5 GG55=OE ED5D4E 45OF5?L=>EF<,  
745-F> =5?D5<5==> 4>5<FLEO GE?5E4 < =4 MF>= >E=>65 ?>6OE<FL E>5EF65==GN E4<>>F5=>G < E6>= 
EF4FGE 6 7?474E E65DEF=<>>6, ?5447>7>6, D>4<F5?5=. �4=OF>EFL >5GG4NM<EEO 6> 6=5GD>G=>5 
6D5<O E?>E>5EF6G5F G>D5??5=<N E4<>4<EF<??<=O, E4<>>D74=<7>64==>EF<, G<5=<N ??4=<D>64FL 
E6>5 6D5<O. �>?LL>5 >>?<G5EF6> 45FE><E >>??5>F<6>6, =5 E6O74==OE =4?DO<GN E GG55=>= 
45OF5?L=>EFLN, E>7445F 5?47>?D<OF=GN 6>7<>6=>EFL 4?O D4EL<D5=<O ?>?O <56?<G=>EF=>7> 
674<<>45=EF6<O >5GG4NM<EEO D47=>7> 6>7D4EF4 < E??>G5=<O =4 MF>= >E=>65, G7=46L<E 4DG7 
4DG74 45F5=,  6 54<=O= L>>?L=O= >>??5>F<6. � <4EE>6>5 GG4EF<5 45F5= 6 D57G?OD=> 
?D>6>4<<OE 6 L>>?5 ?D474=<>4E, >>=>GDE=>-<7D>6OE ?D>7D4<<4E, E?>DF<6=OE E>EFO74=<OE 
?D<>5M45F <E > ?D>F5EEG ?>O6?5=<O L>>?L=OE FD44<F<=, D>D<<D>64=<N >>D?>D4F<6=>7> 4GE4 
«E6>5=» L>>?O, GG6EF64 7>D4>EF< 74 =55. 
�G6=> >F<5F<FL 5MU >4=G G=<>4?L=GN >E>55==>EFL 4>?>?=<F5?L=>7> >5D47>64=<O - 44FL 
D4EFGM5<G G5?>65>G 6>7<>6=>EFL ?D>O6<FL E55O, ?5D56<FL E<FG4F<N GE?5E4 (< ?D<F>< 
=5>4=>>D4F=>!). �>E>>?L>G 6 E<EF5<5 4>?>?=<F5?L=>7> >5D47>64=<O ?4?<FD4 6O5>D4 45FL<< 
ED5DO ?D<?>65=<O <=F5D5E>6 GD576OG4==> L<D>>4, ?D4>F<G5E>< >464O= >5GG4NM<=EO <>65F 
=4=F< E55O < 4>EF<7=GFL >?D545?5==>7> GE?5E4 6 F>< <?< <=>< 6<45 45OF5?L=>EF<. -F>F <><5=F 
GD576OG4==> 6465= 4?O ?N5>7> D555=>4, 4 >E>55==> 4?O 45F5=, =5G65D5==OE 6 E555, EFD444NM<E 
F5<< <?< <=O<< >><??5>E4<<, <E?OFO64NM<E FDG4=>EF< 6 >E6>5=<< L>>?L=OE 4<EF<??<=. 
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      &5?< 4>?>?=<F5?L=>7> >5D47>64=<O 45F5=  =4 2022 -2023  GG55=O= 7>4O 74>?NG4NFEO 6 
D476<F<< < E>65DL5=EF6>64=<< E<EF5<O 4>?>?=<F5?L=>7> >5D47>64=<O 45F5= 6 L>>?5, 
?D<764==>= >55E?5G<FL: 
         - D>D<<D>64=<5 < D476<F<5 F6>DG5E><E E?>E>5=>EF5= >5GG4NM<EEO; 

- G4>6?5F6>D5=<5 <=4<6<4G4?L=OE ?>FD55=>EF5= >5GG4NM<EEO 6 EG4>65EF65==>-
MEF5F<G5E>><, =D46EF65==><  < <=F5??5>FG4?L=>< D476<F<<, 4 F4>65 6 74=OF<OE D<7<G5E>>= 
>G?LFGD>= < E?>DF><; 

- D>D<<D>64=<5 >G?LFGDO 74>D>6>7> < 557>?4E=>7> >5D474 6<7=<, G>D5??5=<5 74>D>6LO 
>5GG4NM<EEO; 

- >55E?5G5=<5 4GE>6=>-=D46EF65==>7>, 7D4644=E>>-?4FD<>F<G5E>>7>, 6>5==>-
?4FD<>F<G5E>>7>, FDG4>6>7> 6>E?<F4=<O >5GG4NM<EEO; 

- 6OO6?5=<5, D476<F<5 < ?>445D6>G F4?4=F?<6OE >5GG4NM<EEO, 4 F4>65 ?<F, ?D>O6<6L<E 
6O44NM<5EO E?>E>5=>EF<; 

- E>744=<5 < >55E?5G5=<5 =5>5E>4<<OE GE?>6<= 4?O ?<G=>EF=>7> D476<F<O, G>D5??5=<5 
74>D>6LO, ?D>D5EE<>=4?L=>7> E4<>>?D545?5=<O < F6>DG5E>>7> FDG44 >5GG4NM<EEO; 

- ?>47>F>6>G E?>DF<6=>7> D575D64 < E?>DFE<5=>6 6OE>>>7> >?4EE4 6 E>>F65FEF6<< E 
D545D4?L=O<< EF4=44DF4<< E?>DF<6=>= ?>47>F>6><, 6 F>< G<E?5 <7 G<E?4 >5GG4NM<EEO E 
>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, 45F5=-<=64?<4>6; 

- E>F<4?<74F<N < 444?F4F<N >5GG4NM<EEO > 6<7=< 6 >5M5EF65; 
- D>D<<D>64=<5 >5M5= >G?LFGDO >5GG4NM<EEO; 
- G4>6?5F6>D5=<5 <=OE >5D47>64F5?L=OE ?>FD55=>EF5= < <=F5D5E>6 >5GG4NM<EEO, =5 

?D>F<6>D5G4M<E 74>>=>44F5?LEF6G $>EE<=E>>= $545D4F<<, >EGM5EF6?O5<OE 74 ?D545?4<< 
D545D4?L=OE 7>EG44DEF65==OE >5D47>64F5?L=OE EF4=44DF>6 < D545D4?L=OE 7>EG44DEF65==OE 
FD55>64=<=. 
�>?>?=<F5?L=>5 >5D47>64=<5 >D74=<7G5FEO 6 F5?OE E>744=<O 54<=>7> >5D47>64F5?L=>7> 
?D>EFD4=EF64 6 L>>?5, >=> E6O74=> E <=4<6<4G4?L=O< D476<F<5< D555=>4 6 >G?LFGD5, >>F>D>5 
>= 6O5<D45F E4<>EF>OF5?L=> 6 E>>F65FEF6<< E> E6><<< <=F5D5E4<<, 65?4=<O<<, ?>FD55=>EFO<<.  

3. �D<=F<?O ?D>7D4<<O  

�D< >D74=<74F<< 4>?>?=<F5?L=>7> >5D47>64=<O 45F5= L>>?4 >?<D45FEO  
=4 E?54GNM<5 ?D<>D<F5F=O5 ?D<=F<?O: 

1. �D<=F<? 4>EFG?=>EF<. �>?>?=<F5?L=>5 >5D47>64=<5 3 >5D47>64=<5 4>EFG?=>5. �45EL 
<>7GF 74=<<4FLEO ?N5O5 45F< 3 «>5OG=O5», 5M5 =5 =4L54L<5 E6>57> >E>5>7> ?D<764=<O; 
>44D5==O5; «?D>5?5<=O5» 3 E >F>?>=5=<O<< 6 D476<F<<, 6 ?>6545=<<, 45F<-<=64?<4O. �D< MF>< 
E<EF5<4 4>?>?=<F5?L=>7> >5D47>64=<O 45F5= O6?O5FEO E6>57> D>44 <5E4=<7<>< E>F<4?L=>7> 
6OD46=<64=<O 6>7<>6=>EF5= ?>?GG5=<O ?5DE>=<D<F<D>64==>7> >5D47>64=<O. �4=>= <7 
7?46=OE 74D4=F<= D54?<74F<< ?D<=F<?4 D465=EF64 >5D47>64F5?L=OE 6>7<>6=>EF5= O6?O5FEO 
55E??4F=>EFL ?D54>EF46?O5<OE L>>?>= GE?G7. 

2. �D<=F<? ?D<D>4>E>>5D47=>EF<. � 4>?>?=<F5?L=>< >5D47>64=<< 45F5= 6E5 ?D>7D4<<O 
>F65G4NF F5< <?< <=O< ?>FD55=>EFO< < <=F5D5E4< 45F5=, >=< >4> 5O «<4GF 74 D555=>><», 6 
>F?<G<5 >F L>>?O, >>F>D4O 6O=G645=4 «?>47>=OFL» GG5=<>4 ?>4 ?D>7D4<<G (D545D4?L=O= < 
D57<>=4?L=O= EF4=44DF). �E?<  
6 4>?>?=<F5?L=>< >5D47>64=<< ?D>7D4<<4 =5 E>>F65FEF6G5F 74?D>E4<  
55 >E=>6=OE ?>FD55<F5?5= <?< ?5D5EF45F ?>?L7>64FLEO E?D>E><, >=4 ?D>EF> "GE>4<F E> EF5=O".  

3. �D<=F<? <=4<6<4G4?L=>EF<. �>?>?=<F5?L=>5 >5D47>64=<5 D54?<7G5F ?D46> D555=>4 
=4 >6?445=<5 7=4=<O<< < G<5=<O<< 6 <=4<6<4G4?L=>< F5<?5  
< >5N5<5, =4 E<5=G 6 E>45 >5D47>64F5?L=>7> ?D>F5EE4 ?D54<5F4 < 6<44 45OF5?L=>EF<, 
>>=>D5F=>7> >5N54<=5=<O < 4465 ?5447>74. �D< MF>< GE?5E< D555=>4 ?D<=OF> ED46=<64FL 6 
?5D6GN >G5D54L E ?D54O4GM<< GD>6=5< 57> 7=4=<= < G<5=<=, 4 EF<?L, F5<?, >4G5EF6> 57> 
D45>FO - =5 ?>465D74FL ?>D<F4=<O<. 

&5E=> 674<<>E6O74=O <564G E>5>= ?D<=F<? E6>5>4=>7> 6O5>D4  

< >F65FEF65==>EF< < ?D<=F<? D476<F<O. 
4. �D<=F<? E6>5>4=>7> 6O5>D4 < >F65FEF65==>EF< ?D54>EF46?O5F >5GG4NM5<GEO < 

?5447>7G 6>7<>6=>EFL 6O5>D4 < ?>EFD>5=<O <=4<6<4G4?L=>7> >5D47>64F5?L=>7> <4DLDGF4: 
?D>7D4<<O, E>45D64=<O, <5F>4>6 < D>D< 45OF5?L=>EF<, E>>D>EF<, F5<?4 ?D>46<65=<O < F.?., 
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<4>E<<4?L=> >F65G4NM5= >E>55==>EFO< ?<G=>EF=>7> D476<F<O >464>7> < >?F<<4?L=> 
G4>6?5F6>DONM<E <=F5D5EO, ?>FD55=>EF<, 6>7<>6=>EF< F6>DG5E>>= E4<>D54?<74F<<. 

5. �D<=F<? D476<F<O. �4==O= ?D<=F<? ?>4D47G<5645F E>744=<5 ED54O >5D47>64=<O, 
>>F>D4O >55E?5G<645F D476<F<5 <=4<6<4G4?L=>7> ?<G=>EF=>7> ?>F5=F<4?4 >464>7> 
>5GG4NM57>EO, E>65DL5=EF6>64=<5 ?5447>7<G5E>>= E<EF5<O, E>45D64=<O, D>D< < <5F>4>6 
4>?>?=<F5?L=>7> >5D47>64=<O 6 F5?>EF=>< >5D47>64F5?L=>< ?D>F5EE5 L>>?O. %<OE?>6>= 
EF4FGE E<EF5<O 4>?>?=<F5?L=>7> >5D47>64=<O 3 D476<F<5 ?<G=>EF< 6>E?<F4==<>4. �5D47>64=<5, 
>EGM5EF6?ONM55EO 6 ?D>F5EE5 >D74=<7>64==>= 45OF5?L=>EF<, <=F5D5E=>= D555=>G, 5M5 5>?55 
<>F<6<DG5F 57>, EF<<G?<DG5F > 4>F<6=><G E4<>EF>OF5?L=><G ?><E>G, ?>4F4?><645F > 
E4<>>5D47>64=<N.  

6. �D<=F<? E<EF5<=>EF< 6> 674<<>45=EF6<< < 674<<>?D>=<>=>65=<< 547>6>7> < 

4>?>?=<F5?L=>7> >5D47>64=<O.  

�D74=<G5E>4O E6O7L >5M57>, 4>?>?=<F5?L=>7> >5D47>64=<O < >5D47>64F5?L=>->G?LFGD=>7> 
4>EG74 45F5= E?>E>5EF6G5F >5>74M5=<N >5D47>64F5?L=>= ED54O L>>?O =>6O<< 6>7<>6=>EFO<< 
E>7<44F5?L=>-F6>DG5E>>= 45OF5?L=>EF<. �=F57D4F<O 6E5E 6<4>6 >5D47>64=<O, =5E><=5==>, 
EF4=>6<FEO 646=O< GE?>6<5< ?5D5E>44 =4  =>6O= EF4=44DF. 

7. �D<=F<? E>F<4?<74F<< < ?<G=>= 7=4G<<>EF< ?D54?>?4745F E>744=<5 =5>5E>4<<OE 
GE?>6<= 4?O 444?F4F<< 45F5=, ?>4D>EF>>6, <>?>456< > 6<7=< 6 E>6D5<5==>< >5M5EF65 < 6 
GE?>6<OE F5==>EF5=, =>D<, GEF4=>6>> < >5D47>6 ?>6545=<O, ?D<EGM<E D>EE<=E>><G < <<D>6><G 
>5M5EF6G. 

8. �D<=F<? ?<G=>EF=>= 7=4G<<>EF< ?>4D47G<5645F ?>4 E>5>= 4<=4<<G=>5 D547<D>64=<5 
4>?>?=<F5?L=>7> >5D47>64=<O =4 <7<5=ONM<5EO ?>FD55=>EF< 45F5=, E6>56D5<5==GN 
>>DD5>F<D>6>G E>45D64=<O >5D47>64F5?L=OE ?D>7D4<<. � MF>, >4> <765EF=>, < 5EFL E4<O= 
<>M=O= EF<<G? ?>445D64=<O ?>EF>O==>7> <=F5D5E4 > <7GG45<><G ?D54<5FG. �<5==> 6 E<EF5<5 
4>?>?=<F5?L=>7> >5D47>64=<O 45F5= EGM5EF6GN F4><5 ?D>7D4<<O, >>F>DO5 ?>76>?ONF 
?D<>5D5EF< D555=>G =5 45EFD4>F=GN <=D>D<4F<N, =5D54>> 44?5>GN >F D54?L=>= 6<7=<, 4 
?D4>F<G5E>< >D<5=F<D>64==O5 7=4=<O < =46O><, >>F>DO5 =4 45?5 ?><>74NF 5<G 444?F<D>64FLEO 
6 <=>7>>5D47<< >>DG64NM5= 6<7=<, =4?D<<5D, «,>>?4 6GD=4?<EF<><», «�D45654», 
«�?<<4F<G5E>4O L>4FG?>4», «�E>GEEF6> 6>>4?4»  < 4D. 

9. �D<=F<? >D<5=F4F<< =4 ?D<>D<F5FO 4GE>6=>EF< < =D46EF65==>EF< ?D54?>?4745F 
D>D<<D>64=<5 =D46EF65==>-F5==>EF=OE >D<5=F4F<= ?<G=>EF<, D476<F<5 GG6EF65==>-
M<>F<>=4?L=>= ED5DO GG5=<>4, =D46EF65==>-F6>DG5E>>7> >F=>L5=<O < O6?O5FEO 4><<=4=F>= 
?D>7D4<< 4>?>?=<F5?L=>7> >5D47>64=<O, 6E5= 6<7=545OF5?L=>EF< 6>E?<F4==<>>6, ?5447>7>6, 
>5D47>64F5?L=>= ED54O. 

10. �D<=F<? 4<4?>74 >G?LFGD. �D<5=F4F<O =4 44==O= ?D<=F<? >7=4G45F =5 F>?L>> 
D>D<<D>64=<5 GE?>6<= 4?O D476<F<O >5M5= >G?LFGDO ?<G=>EF<, => < G5D57 4<4?>7 >G?LFGD, 
>D74=<74F<N E<EF5<O =5?D5DO6=>7> ?>EF<65=<O MEF5F<G5E><E < MF<G5E><E F5==>EF5= 
?>?<>G?LFGD=>7> ?D>EFD4=EF64. � E<EF5<5 4>?>?=<F5?L=>7> >5D47>64=<O FD45>F>D<O 
MEF5F<G5E>>7> 6>E?<F4=<O, 6>E?D<OF<O < ?5D56<64=<O ?D5>D4E=>7>, ?>=<<4=<O F6>DG5EF64 ?> 
74>>=4< >D4E>FO D476<645FEO > E>744=<N >G?LFGD=OE F5==>EF5=, >4> 6 <E>GEEF65, F4> < 6=5 57>. 
�4?D<<5D, 6 ED5D5 ?>7=464F5?L=>= < FDG4>6>= 45OF5?L=>EF5=, 5OFG, E?>DF5, ?>EFG?>4E < 
?>6545=<<, G5?>65G5E><E 674<<>>F=>L5=<OE. $57G?LF4F>< 44==>= >D<5=F4F<< O6?ONFEO 
MEF5F<G5E>>-F5==>EF=O5 < MEF5F<G5E>>-F6>DG5E><5 6>7<>6=>EF< >5GG4NM<EEO. 

11. �D<=F<? 45OF5?L=>EF=>7> ?>4E>44. 
'5D57 E<EF5<G <5D>?D<OF<= (45?, 4>F<=) >5GG4NM<5EO 6>?NG4NFEO  

6 D47?<G=O5 6<4O  45OF5?L=>EF<, GF> >55E?5G<645F E>744=<5 E<FG4F<< GE?5E4 4?O >464>7> 
D55U=>4.  

12. �D<=F<? F6>DG5EF64 6 D54?<74F<< E<EF5<O 4>?>?=<F5?L=>7> >5D47>64=<O >7=4G45F, 
GF> F6>DG5EF6> D4EE<4FD<645FEO >4> G=<65DE4?L=O= <5E4=<7< D476<F<O ?<G=>EF<, 
>55E?5G<64NM<= =5 F>?L>> 5U 6E>645=<5 6 <<D >G?LFGDO, D>D<<D>64=<5 E>F<4?L=> 7=4G<<>= 
<>45?< EGM5EF6>64=<O  
6 E>6D5<5==>< <<D5, => < D54?<74F<N 6=GFD5==5= ?>FD55=>EF< ?<G=>EF<  
> E4<>6OD465=<N, E4<>?D575=F4F<<. �?O D54?<74F<< MF>7> ?D<>D<F5F4 646=> E>744=<5 
4F<>ED5DO, EF<<G?<DGNM5= 6E5E EG5N5>F>6 >5D47>64F5?L=>7> ?D>F5EE4 > F6>DG5EF6G 6 ?N5>< 
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57> ?D>O6?5=<<. �464>5 45?>, 74=OF<5 (E>744=<5 ?D>5>F4, <E?>?=5=<5 ?5E=<, D>?< 6 E?5>F4>?5, 
E?>DF<6=4O <7D4 < F.4.) 3 F6>DG5EF6> >5GG4NM57>EO (<?< >>??5>F<64 >5GG4NM<EEO) < ?5447>7>6. 

 

13. �D<=F<? D47=>6>7D4EF=>7> 54<=EF64. 

%GM5EF6GNM4O E<EF5<4 4>?>?=<F5?L=>7> >5D47>64=<O >55E?5G<645F E>FDG4=<G5EF6> 
>5GG4NM<EEO D47=OE 6>7D4EF>6 < ?5447>7>6. �E>55==>  
6 D47=>6>7D4EF=OE >5N54<=5=<OE D55OF4 <>7GF ?D>O6<FL E6>N <=<F<4F<6G, E4<>EF>OF5?L=>EFL, 
?<45DE><5 >4G5EF64, G<5=<5 D45>F4FL 6 >>??5>F<65, GG<FO64O <=F5D5EO 4DG7<E.  

14. �D<=F<?  ?>445D6>< <=<F<4F<6=>EF< < 4>F<6=>EF< 
$54?<74F<O 4>?>?=<F5?L=>7> >5D47>64=<O ?D54?>?4745F <=<F<<D>64=<5, 4>F<6<74F<N, 

?>445D6>G < ?>>MD5=<5 ?N5OE =4G<=4=<= >5GG4NM<EEO. 
15. �D<=F<? >F>DOF>EF< E<EF5<O. 

%>6<5EF=4O D45>F4 L>>?O, E5<L<, 4DG7<E E>F<4?L=OE <=EF<FGF>6, GGD5645=<= >G?LFGDO < 
>5D47>64=<O /<4?LE>>7> <G=<F<?4?L=>7> D4=>=4 =4?D46?5=4 =4 >55E?5G5=<5 >464><G D55U=>G 
<4>E<<4?L=> 5?47>?D<OF=OE GE?>6<= 4?O 4GE>6=>7>, <=F5??5>FG4?L=>7> < D<7<G5E>>7> 
D476<F<O, G4>6?5F6>D5=<O 57> F6>DG5E><E < >5D47>64F5?L=OE ?>FD55=>EF5=. 
4. 'D>6=< 4>?>?=<F5?L=>= >5M5>5D47>64F5?L=>= ?D>7D4<<O 
       �>?>?=<F5?L=4O >5M5>5D47>64F5?L=4O ?D>7D4<<4 6 D4<>4E ���' «E5OE<=E>4O L>>?4-
<=F5D=4F» 6>?NG45F E?54GNM<5 GD>6=<: 
1.�4G4?L=>5 >5M55 >5D47>64=<5;                                                                               
2.�E=>6=>5 >5M55 >5D47>64=<5;                                                                          
3.%D54=55 (?>?=>5) >5M55 >5D47>64=<5. 
    �>?>?=<F5?L=4O >5M5>5D47>64F5?L=4O ?D>7D4<<4 =4G4?L=>7> >5M57> 

>5D47>64=<O =4?D46?5=4 =4 D476<F<5 GG55=>-?>7=464F5?L=>= <>F<64F<<; 
D>D<<D>64=<5 G<5=<= GG55=>7> E>FDG4=<G5EF64; ?D<>5D5F5=<5 >5M<E 
G<5=<= < E?>E>5>6 <=F5??5>FG4?L=>= < ?D4>F<G5E>>= 45OF5?L=>EF<; >E6>5=<5 >5M5EF65==> 
?D<7=4==OE E>F<4?L=OE =>D<. 
    �>?>?=<F5?L=4O >5D47>64F5?L=4O ?D>7D4<<4 >E=>6=>7> >5M57> >5D47>64=<O =4?D46?5=4 
=4 D>D<<D>64=<5 ?>7=464F5?L=>= <>F<64F<<, >?D545?ONM5= GEF4=>6>G =4 ?D>4>?65=<5 
>5D47>64=<O; >6?445=<5 >?OF>< E4<>>D74=<74F<<, E4<>D54?<74F<<, E4<>>>=FD>?O; >6?445=<5 
E?>E>54<< GG55=>-<EE?54>64F5?LE>>= < GG55=>-?D>5>F=>= 45OF5?L=>EF<, ?D<>5D5F5=<5 >?OF4 
?D>4G>F<6=>= F6>DG5E>>= 45OF5?L=>EF<. 
�>?>?=<F5?L=4O >5D47>64F5?L=4O ?D>7D4<<4 ED54=57> (?>?=>7>) >5M57> >5D47>64=<O 
=4?D46?5=4 =4 EF4=>6?5=<5 E4<>>?D545?5=<O ?> >F=>L5=<N > >G?LFGD5 < E>F<G<G; E?>E>5=>EF< 
?D<=<<4FL >F65FEF65==O5 D5L5=<O; D>D<<D>64=<5 4>F<6=>= 7D4644=E>>= ?>7<F<<; 7>F>6=>EF< 
> =5?D5DO6=><G >5D47>64=<N 6 F5G5=<5 6E5= 6<7=<. 

               
      2. �?4=<DG5<O5 D57G?LF4FO 

      �>?>?=<F5?L=>5 >5D47>64=<5 (>4> < 4DG7>= F<? >5D47>64=<O) <<55F =5 F>?L>> <5D4DE<G5E><= 
DO4 F5?5=, => < E>>F=5E5==O= E =<< DO4 ??4=<DG5<OE >5O74F5?L=OE D57G?LF4F>6 >5GG5=<O, GF> 
45?45F >5GG5=<5 F5?>EF=O< < 7465DL5==O<. �<5==> 6OE>4 =4 >>=5G=O5 D57G?LF4FO, 
>?D545?5=<5 «MF4?>=4» >5GG5=<O ?D<445F 4>?>?=<F5?L=><G >5D47>64=<O >E<OE?5==>EFL, 4 
>5GG4NM<=EO 7=45F, > G5<G EFD5<<FEO 6 >6?445=<< E>45D64=<5< ?D54<5F4. �?D545?5=<5 
>>=5G=OE D57G?LF4F>6 - >4=4 <7 E?>6=5=L<E ?D>5?5<. �>MF><G  ?5447>7< D47D454FO64NF 
?D>7D4<<O, E>45D64M<5 D<>E<D>64==O5 >5D47>64F5?L=O5 D57G?LF4FO. �5O74F5?L=4O 4FF5EF4F<O 
6 4>?>?=<F5?L=>< >5D47>64=<< 6 ?D<=F<?5 >FEGFEF6G5F. � 646=5=L<< ED54EF6>< G?D46?5=<O 
>5D47>64F5?L=O< ?D>F5EE>< O6?O5FEO >5N5>F<6=O= < E<EF5<4F<G5E><= >>=FD>?L D45>FO 45F5=.  
�>?>?=<F5?L=4O >5M5>5D47>64F5?L=4O ?D>7D4<<4 E>744UF GE?>6<O 4?O ?D<>5D5F5=<O >5M<E 
(G=<65DE4?L=OE) E?>E>5>6 45=EF6<O (E?>E>5=>EF5= < G<5=<=), ?>76>?ONM<E G5?>65>G ?>=<<4FL 
E<FG4F<N, 4>EF<74FL D57G?LF4F>6 6 D47=OE 6<44E 45OF5?L=>EF<, GF> E>EF46?O5F >E=>6G 
(EGM=>EFL) >><?5F5=F=>EF=>7> ?>4E>44 6 4>?>?=<F5?L=>< >5D47>64=<<.                 
     �>?>?=<F5?L=4O >5D47>64F5?L=4O ?D>7D4<<4 =4?D46?5=4 =4 EF4=>6?5=<5 E?54GNM<E 

>?NG56OE  >><?5F5=F=>EF5=: 
- ?>7=464F5?L=4O >><?5F5=F=>EFL (E?>E>5=>EFL > >5GG5=<N 6 F5G5=<5 6E5= 6<7=< >4> 6 
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?<G=>< ?D>D5EE<>=4?L=><, F4> < 6 E>F<4?L=>< 4E?5>F5; <E?>?L7>64=<5 =45?N45=<=, <7<5D5=<=, 
<>45?<D>64=<O; 
>><5<=<D>64=<5 <765EF=OE 4?7>D<F<>6 45OF5?L=>EF< 6 E<FG4F<OE, =5 ?D54?>?474NM<E 
EF4=44DF=>7> <E ?D<<5=5=<O); 
- <=D>D<4F<>==4O >><?5F5=F=>EFL (E?>E>5=>EFL D45>F4FL E D47=O<< <EF>G=<>4<< 
<=D>D<4F<<; E?>E>5=>EFL > >D<F<G5E>><G EG645=<N 6 >F=>L5=<< ?>?GG45<>= <=D>D<4F<<; 
6?445=<5 F5?5>><<G=<>4F<>==O<< F5E=>?>7<O<< 6 >5M5=<< E ?N4L<<; >><?LNF5D=4O 
7D4<>F=>EFL, G<5=<5 <E?>?L7>64FL ??4=O < >>=E?5>FO, 7=4>>6O5 E<EF5<O (F45?<FO, EE5<O < 
F.4.); 
- >><<G=<>4F<6=4O >><?5F5=F=>EFL (6?445=<5 D47?<G=O<< ED54EF64<< ?<EL<5==>7> < 
GEF=>7> >5M5=<O; 6O5>D 445>64F=OE E<FG4F<O< D>D< 65D54?L=>7> < =565D54?L=>7> >5M5=<O, 
E?>E>5>6 D>D<<D>64=<O < D>D<G?<D>64=<O <OE?<; 6?445=<5 E?>E>54<< ?D575=F4F<< E55O < 
E6>5= 45OF5?L=>EF<); 
- E>F<4?L=4O < 7D4644=E>4O >><?5F5=F=>EFL (E>5?N45=<5 E>F<4?L=OE < >G?LFGD=OE =>D< 
?>6545=<O, ?D46<? 74>D>6>7> >5D474 6<7=<; G<5=<5 >D<5=F<D>64FLEO 6 ?>?<F<G5E><E < 
E>F<4?L=OE E<FG4F<OE < 74=<<4FL 445>64F=O5 ?>7<F<<; E?>E>5=>EFL > D57G?<D>64=<N 
>>=D?<>F>6 =5=4E<?LEF65==O< ?GF5<; E?>E>5=>EFL 6<FL < >5M4FLEO E ?N4L<< 4DG7<E O7O>>6, 
D5?<7<= < >G?LFGD; E?>E>5=>EFL GG4EF6>64FL 6 45OF5?L=>EF< 45<>>D4F<G5E><E <=EF<FGF>6; 
7>F>6=>EFL > GG4EF<N 6 ?>7<F<6=OE E>F<4?L=OE ?D5>5D47>64=<OE =4 GD>6=5 >?4EE4, L>>?O, 
=4E5?5==>7> ?G=>F4, D57<>=4, EFD4=O); 
- >D74=<74F>DE>4O >><?5F5=F=>EFL (??4=<D>64=<5 < G?D46?5=<5 E>5EF65==>= 45OF5?L=>EFLN; 
6?445=<5 =46O>4<< >>=FD>?O < >F5=>< 45OF5?L=>EF<; E?>E>5=>EFL ?D<=<<4FL >F65FEF65==>EFL 74 
E>5EF65==O5 45=EF6<O; 6?445=<5 E?>E>54<< E>6<5EF=>= 45OF5?L=>EF<). 
                            �>>474F5?< 6O?>?=5=<O �D>7D4<<O 

7 �4<<5=>64=<5 ?>>474F5?O 

 1 �>6OL5=<5 ?D>F5=F4 >E64F4 GG4M<EEO 4>?>?=<F5?L=O< >5D47>64=<5< (>F >5M57> 
>>?<G5EF64 GG4M<EEO) 

 2 '4>6?5F6>D5=<5 ?>FD55=>EF< GG4M<EEO 6 >D74=<74F<< 4>?>?=<F5?L=>7> >5D47>6=<O 6 
�' 

 3 %>744=<5 45FE>>7> >5N54<=5=<O =4 5475 L>>?L=>= �><=4FO E?46O 
 4 '65?<G5=<5  4>?< (>F >5M57> >>?<G5EF64) GG4M<EEO, ?D<=O6L<E GG4EF<5 6 D54?<74F<< 

E>F<4?L=>->5D47>64F5?L=OE ?D>5>F>6 
 5 '65?<G5=<5 4>?< 45F5=, ?>4D>EF>>6, <>?>456<, D57G?OD=> 74=<<4NM<EEO  D<7<G5E>>= 

>G?LFGD>= < E?>DF>< 
 6 $>EF G<E?4 GG4EF6GNM<E 6 <5D>?D<OF<OE, >5>7=4G5==OE >4?5=44D=O< ??4=>< 

?D>6545=<O D<7>G?LFGD=>->74>D>6<F5?L=OE < E?>DF<6=>-<4EE>6OE <5D>?D<OF<= 
 7 �>?O E5<5=, 4>F<6=> GG4EF6GNM<E 6 D45>F5 �', >F >5M5= G<E?5==>EF< E5<5= �' 
 8 $45>F4 D>4<F5?LE>>7> >?G54 «�<D 67D>E?OE-<<D 45F5=» 
 9 '4>6?5F6>D5==>EFL D>4<F5?5= >4G5EF6>< D45>FO ?5447>7>6 ?> 4>?>?=<F5?L=><G 

>5D47>64=<N 45F5= < 67D>E?OE 
10. 10 �>F<6=4O D45>F4 =4 E4=F5 �', >FD464NM4O 65EL E?5>FD 4>?>?=<F5?L=>7> >5D47>64=<O 

?D54EF46?5==>7> 6 L>>?5 
 

3. 'G55=O= ??4= 

 

   3. 2. �5M4O E4D4>F5D<EF<>4 GG55=>7> ??4=4  

       'G55=O= ??4= 4>?>?=<F5?L=>7> >5D47>64=<O D47D45>F4= =4 >E=>65 GG5F4 <=F5D5E>6 
GG4M<EEO < E GG5F>< ?D>D5EE<>=4?L=>7> ?>F5=F<4?4 ?5447>7<G5E>>7> >>??5>F<64. �>E>>?L>G 6 
L>>?5 ?D<>D<F5F=O< O6?O5FEO ?>4E>4 ?<G=>EF=>->D<5=F<D>64==>7> >5GG5=<O < 6>E?<F4=<O 
GG4M<EEO, GG55=O= ??4= >FD4645F F5?< < 7444G< >5D47>64=<O < 6>E?<F4=<O 6 L>>?5, 
=4?D46?5==O5 =4 D476<F<5 <=4<6<4G4?L=OE 6>7<>6=>EF5= < E?>E>5=>EF5= GG5=<>4. 
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       �?46=4O 7444G4 L>>?O - D>D<<D>64=<5 < D476<F<5 =D46EF65==>=, E4<>EF>OF5?L=>=, 
F6>DG5E>>= < D<7<G5E>< 74>D>6>= ?<G=>EF< GG4M<EEO, E6>5>4=> 444?F<DGNM<EEO 6 
E>6D5<5==>< >5M5EF65 < ?D5G<=>64NM<E >G?LFGD=>5 =4E?54<5 EFD4=O. �4=<< <7 GE?>6<= 
6O?>?=5=<O 44==>= 7444G< O6?O5FEO <=F57D4F<O >E=>6=>7> < 4>?>?=<F5?L=>7> >5D47>64=<O.  
      'G55=O= ??4= 4>?>?=<F5?L=>7> >5D47>64=<O ���' «%5OE<=E>4O ,�» - =>D<4F<6=O= 
4>>G<5=F, >?D545?ONM<= >5NU<, ?>DO4>>, E>45D64=<5 <7GG5=<O < ?D5?>4464=<O >GDE4 
4>?>?=<F5?L=>7> >5D47>64=<O. �4EF>OM<= GG55=O= ??4= O6?O5FEO ?>7<G5E><< ?D>4>?65=<5< 
>E=>6=OE >5D47>64F5?L=OE ?D>7D4<< =4G4?L=>7> >5M57> >5D47>64=<O, >E=>6=>7> >5M57> 
>5D47>64=<O < ED54=57> ?>?=>7> >5D47>64=<O.  
 
3.3. �>D<4F<6=>-?D46>64O 5474  

        �>?>?=<F5?L=4O >5M5>5D47>64F5?L=4O ?D>7D4<<4 3 <G=<F<?4?L=>7> 5N465F=>7> 
>5M5>5D47>64F5?L=>7> GGD5645=<O «%5OE<=E>4O L>>?4-<=F5D=4F» D47D45>F4=4 6 E>>F65FEF6<< 
E >E=>6=O<< =>D<4F<6=O<< < ?D>7D4<<=O<< 4>>G<5=F4<< 6 >5?4EF< >5D47>64=<O $$:  
$545D4?L=O5: 
÷ �>=EF<FGF<O $$. �E=>6=>= �4>>= $>EE<=E>>7> 7>EG44DEF64 (12.12.1993 7.)  
÷ &DG4>6>= >>45>E $$. 
÷  $545D4?L=O= 74>>= $>EE<=E>>= $545D4F<< >F 29 45>45DO 2012 7. N 273-$� "�5 
>5D47>64=<< 6 $>EE<=E>>= $545D4F<<" (G4EFL 11, EF4FLO 13). 
÷ $545D4?L=O= 74>>= "�5 >E=>64E E<EF5<O ?D>D<?4>F<>< 557=447>D=>EF<  
< ?D46>=4DGL5=<= =5E>65DL5==>?5F=<E" >F 24.06.1999 7. 7 120-$�. (�D<=OF �>EG44DEF65==>= 
�G<>= 21.05.19997., 6 D544>F<< $545D4?L=>7> 74>>=4  
>F 13.01. 20017. 7 1-$�). 
÷ $545D4?L=O= 74>>= >F 22.08.2004 7. 7122-$� "� 7>EG44DEF65==>= ?>445D6>5 <>?>456=OE 
< 45FE><E >5M5EF65==OE >5N54<=5=<=". 
÷ �4F<>=4?L=4O >5D47>64F5?L=4O <=<F<4F<64 «�4L4 =>64O L>>?4», GF65D645==4O 
�D57<45=F>< $>EE<=E>>= $545D4F<< 04 D56D4?O 2010 7. �D-271;  
÷ �?4= 45=EF6<= ?> <>45D=<74F<< >5M57> >5D47>64=<O =4 2011-2015 7>4O, GF65D645==O= 
D4E?>DO65=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<<  
>F 7 E5=FO5DO 2010 7>44 N 1507-D; 
÷ $545D4?L=O= 7>EG44DEF65==O= >5D47>64F5?L=O= EF4=44DF =4G4?L=>7> >5M57> >5D47>64=<O 
(GF65D645= ?D<>47>< �<=<EF5DEF6>< ?D>E65M5=<O $>EE<=E>>= $545D4F<< >F 31.05.2021 7. 7 
286) 
÷ $545D4?L=O= 7>EG44DEF65==O= >5D47>64F5?L=O= EF4=44DF >E=>6=>7> >5M57> >5D47>64=<O, 
GF65D645==O= ?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 
17.12.20107. 71897 (D54. >F 31.12.2015) 
÷ $545D4?L=O= 7>EG44DEF65==O= >5D47>64F5?L=O= EF4=44DF ED54=57> >5M57> >5D47>64=<O 
(GF6. ?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $$ >F 17 <4O 2012 7. 7 413) E <7<5=5=<O<< 
< 4>?>?=5=<O<< >F: 29 45>45DO 2014 7., 31 45>45DO 2015 7., 29 <N=O 2017 7., 24 E5=FO5DO, 11 
45>45DO 2020 7. 

÷ �>?>65=<5 > ?<F5=7<D>64=<< >5D47>64F5?L=>= 45OF5?L=>EF< (6 D54. �>EF4=>6?5=<O 
�D46<F5?LEF64 $$ >F 19.07.2012 N 731, >F 24.09.2012 
 N 957). 
÷ �5F>4<G5E><5 D5>><5=44F<< '?D46?5=<O 6>E?<F4=<O < 4>?>?=<F5?L=>7> >5D47>64=<O 
45F5= < <>?>4U6< �<=>5D47>64=<O $>EE<< ?> D476<F<N 4>?>?=<F5?L=>7> >5D47>64=<O 45F5= 6 
>5M5>5D47>64F5?L=OE GGD5645=<OE. (�D<?>65=<5 > ?<EL<G �<=>5D47>64=<O $>EE<< >F 
11.06.2002 7. 7 30-15-433/16). 
÷ �D<>47 �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 29 467GEF4 2013 
7.71008 «�5 GF65D645=<< ?>DO4>4 >D74=<74F<< < >EGM5EF6?5=<O >5D47>64F5?L=>= 
45OF5?L=>EF< ?> 4>?>?=<F5?L=O< >5M5>5D47>64F5?L=O< ?D>7D4<<4<»; 
÷ �>EF4=>6?5=<5 �?46=>7> 7>EG44DEF65==>7> E4=<F4D=>7> 6D4G4 $>EE<=E>>= $545D4F<< >F 
28.09.2020 7. 7 28 "�5 GF65D645=<< E4=<F4D=OE ?D46<? %� 2.4.3648-20 "%4=<F4D=>-
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M?<45<<>?>7<G5E><5 FD55>64=<O > >D74=<74F<O< 6>E?<F4=<O < >5GG5=<O, >F4OE4 < 
>74>D>6?5=<O 45F5= < <>?>456<". 
÷ %4=�<� 2.4.4.3172-14. "%4=<F4D=>-M?<45<<>?>7<G5E><5 FD55>64=<O > GEFD>=EF6G, 
E>45D64=<N < >D74=<74F<< D56<<4 D45>FO >5D47>64F5?L=OE >D74=<74F<= 4>?>?=<F5?L=>7> 
>5D47>64=<O 45F5=. 
$57<>=4?L=O5: 

- �4>>= >5 >5D47>64=<< 6 /<4?>-�5=5F>>< 46F>=><=>< >>DG75 7 55-��� >F 27.06.2013 
�G=<F<?4?L=O5: 

- �>EF4=>6?5=<5 7 1073 >F 19.11.2020 ">5 GF65D645=<< �>?>65=<O >5 >D74=<74F<< 
?D54>EF46?5=<O 4>?>?=<F5?L=>7> >5D47>64=<O 45F5= 6 <G=<F<?4?L=OE >5D47>64F5?L=OE 
>D74=<74F<OE, D4E?>?>65==OE =4 F5DD<F>D<< <G=<F<?4?L=>7> >5D47>64=<O /<4?LE><= D4=>=" 
'GD5645=G5E><5: 

- 'EF46 �';                                                                                                          
- GG55=O= ??4= ?> 4>?>?=<F5?L=><G >5D47>64=<N L>>?O; 
- ??4= 6>E?<F4F5?L=>= D45>FO =4 GG55=O= 7>4. 
 
3.4. �5M4O E4D4>F5D<EF<>4 GG55=>7> ??4=4 

         'G55=O= ??4= 4>?>?=<F5?L=>7> >5D47>64=<O ���' «%5OE<=E>4O ,�» =4?D46?5= =4 
>55E?5G5=<5 4>EFG?=>EF<, MDD5>F<6=>EF< < >4G5EF64 4>?>?=<F5?L=>7> >5D47>64=<O, E>744=<5 
<4>E<<4?L=> 5?47>?D<OF=OE GE?>6<= 4?O D4E>DOF<O ?D<D>4=OE E?>E>5=>EF5= D55U=>4, 
<=4<6<4G4?<74F<< >5GG5=<O, D476<F<O F6>DG5E>>7> ?>F5=F<4?4 ?<G=>EF< L>>?L=<>>6.    
          'G55=O= ??4= >D<5=F<D>64= =4 L5EF<4=56=GN (2-11 >?.) < ?OF<4=56=GN (14,15,16 >?4EEO 
< >?4EEO =4G4?L=>= L>>?O, D45>F4NM<5 ?> ?D>7D4<<5 ���� $��% ��� ��� '�) =545?N < 
E>EF46?5= E GGUF>< E>F<4?L=>7> 74>474 45F5= < <E D>4<F5?5= (74>>==OE ?D54EF46<F5?5=) =4 
4>?>?=<F5?L=O5 >5D47>64F5?L=O5 GE?G7<, 4 F4>65 E GGUF>< >44D>6>7>, ?D>7D4<<=>-
<5F>4<G5E>>7> < <4F5D<4?L=>-F5E=<G5E>>7> >55E?5G5=<O >5D47>64F5?L=>7> ?D>F5EE4. 'G55=O= 
??4= ?D54GE<4FD<645F D54?<74F<N ?D>7D4<< ?> L5EF< =4?D46?5==>EFO<: EG4>65EF65==4O (7 
?D>7D4<<), FGD<EFE>>->D45654G5E>4O (1 ?D>7D4<<4), D<7>G?LFGD=>-E?>DF<6=4O (6 ?D>7D4<<), 
5EF5EF65==> - =4GG=4O (2 ?D>7D4<<O), F5E=<G5E>4O  
(7 ?D>7D4<<), E>F<4?L=> - 7G<4=<F4D=4O (3 ?D>7D4<<O) 
�4G4?> GG55=>7> 7>44 - 01.09.2020 7>44, >>>=G4=<5 - 31.05.2021 7>44.  
        �5D47>64F5?L=4O 45OF5?L=>EFL ?> 4>?>?=<F5?L=O< >5M5D476<64NM<<  ?D>7D4<<4< 
=4?D46?5=4 =4:  

÷ D>D<<D>64=<5 < D476<F<5 F6>DG5E><E E?>E>5=>EF5= GG4M<EEO;  
÷ G4>6?5F6>D5=<5 <=4<6<4G4?L=OE ?>FD55=>EF5= GG4M<EEO 6 <=F5??5>FG4?L=><, 

EG4>65EF65==>-MEF5F<G5E>><, =D46EF65==>< D476<F<<, 4 F4>65 6 74=OF<OE D<7<G5E>>= 
>G?LFGD>= < E?>DF><;  

÷ D>D<<D>64=<5 >G?LFGDO 74>D>6>7> < 557>?4E=>7> >5D474 6<7=<, G>D5??5=<5 74>D>6LO 
GG4M<EEO;  

÷ >55E?5G5=<5 4GE>6=>-=D46EF65==>7>, 7D4644=E>>-?4FD<>F<G5E>>7>, 6>5==>-
?4FD<>F<G5E>>7>, FDG4>6>7> 6>E?<F4=<O GG4M<EEO;  

÷ 6OO6?5=<5, D476<F<5 < ?>445D6>G F4?4=F?<6OE GG4M<EEO, 4 F4>65 ?<F, ?D>O6<6L<E 
6O44NM<5EO E?>E>5=>EF<;  

÷ ?D>D5EE<>=4?L=GN >D<5=F4F<N GG4M<EEO;  
÷ E>744=<5 < >55E?5G5=<5 =5>5E>4<<OE GE?>6<= 4?O ?<G=>EF=>7> D476<F<O, G>D5??5=<5 

74>D>6LO, ?D>D5EE<>=4?L=>7> E4<>>?D545?5=<O < F6>DG5E>>7> FDG44 GG4M<EEO;  
÷ ?>47>F>6>G E?>DF<6=>7> D575D64 < E?>DFE<5=>6 6OE>>>7> >?4EE4 6 E>>F65FEF6<< E 

D545D4?L=O<< EF4=44DF4<< E?>DF<6=>= ?>47>F>6><, 6 F>< G<E?5 <7 G<E?4 GG4M<EEO E 
>7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, 45F5=-<=64?<4>6;  

÷ E>F<4?<74F<N < 444?F4F<N GG4M<EEO > 6<7=< 6 >5M5EF65;  
÷ D>D<<D>64=<5 >5M5= >G?LFGDO GG4M<EEO;  
÷ G4>6?5F6>D5=<5 <=OE >5D47>64F5?L=OE ?>FD55=>EF5= < <=F5D5E>6 GG4M<EEO, =5 

?D>F<6>D5G4M<E 74>>=>44F5?LEF6G $>EE<=E>>= $545D4F<<, >EGM5EF6?O5<OE 74 
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?D545?4<< D545D4?L=OE 7>EG44DEF65==OE >5D47>64F5?L=OE EF4=44DF>6 < D545D4?L=OE 
7>EG44DEF65==OE FD55>64=<=.  

 

3.5. �E=>6=O5 =4?D46?5=<O 6>E?<F4F5?L=>= 45OF5?L=>EF<, F5?< < 7444G<  

�>?>?=<F5?L=>5 >5D47>64=<5 O6?O5FEO D46=>?D46=O<, 674<<>4>?>?=ONM<< >><?>=5=F>< 
547>6>7> >5D47>64=<O =4DO4G E GD>G=>= 45OF5?L=>EFLN. �D< >D74=<74F<< 4>?>?=<F5?L=>7> 
>5D47>64=<O 6 ���' «%5OE<=E>4O ,�» ?5447>7<G5E><= >>??5>F<6 >?<D45FEO =4 E?54GNM<5 
?D<=F<?O:  

÷ E6>5>4=O= 6O5>D D55U=>>< 6<4>6 < ED5D 45OF5?L=>EF<;  
÷ >D<5=F4F<O =4 ?<G=>EF=O5 <=F5D5EO, ?>FD55=>EF<, E?>E>5=>EF< D55U=>4;  
÷ 6>7<>6=>EFL E6>5>4=>7> E4<>>?D545?5=<O < E4<>D54?<74F<< D55U=>4;  
÷ 54<=EF6> >5GG5=<O, 6>E?<F4=<O, D476<F<O;  
÷ ?D4>F<>>-45OF5?L=>EF=4O >E=>64 >5D47>64F5?L=>7> ?D>F5EE4.  

&5?LN 4>?>?=<F5?L=>7> >5D47>64=<O 6 ���' «%5OE<=E>4O ,�» O6?ONFEO 6OO6?5=<5 < 
D476<F<5 E?>E>5=>EF5= >464>7> D555=>4, D>D<<D>64=<5 4GE>6=> 5>74F>=, E6>5>4=>=, 
D<7<G5E>< 74>D>6>=, F6>DG5E>< <OE?OM5= ?<G=>EF<, >5?444NM5= ?D>G=O<< 547>6O<< 
7=4=<O<<, >D<5=F<D>64==>= =4 6OE>><5 =D46EF65==O5 F5==>EF<, E?>E>5=>= 6?>E?54EF6<< =4 
GG4EF<5 6 D476<F<< >5M5EF64. $54?<7G5<O5 4>?>?=<F5?L=O5 >5M5D476<64NM<5 ?D>7D4<<O 
>D<5=F<D>64=O =4 E4<>D54?<74F<N < ?D>D5EE<>=4?L=GN >D<5=F4F<N GG4M<EEO, =5746<E<<> >F 
GD>6=O D476<F<O, E>EF>O=<O 74>D>6LO, ED>D<<D>64==>EF< <=F5D5E>6, <>F<64F<< > >5GG5=<N < 
GD>6=O <4F5D<4?L=>7> E>EF>O=<O E5<L<.  
�E=>6=O<< 7444G4<< GG55=>7> ??4=4 4>?>?=<F5?L=>7> >5D47>64=<O L>>?O O6?ONFEO:  

÷ E>5?N45=<5 D545D4?L=>7> 7>EG44DEF65==>7> EF4=44DF4 =4G4?L=>7> >5M57>,           
>E=>6=>7> >5M57> < ED54=57> >5M57> >5D47>64=<O;  

÷ E>744=<5 6>7<>6=>EF5= 4?O D476<F<O E?>E>5=>EF5= >464>7> D555=>4 E GG5F><               
<=F5D5E>6 < ?E<E>?>7<G5E><E >E>55==>EF5= D47=OE >4F57>D<= GG4M<EEO;  

÷ GE<?5=<5 45OF5?L=>EF=>7> ?>4E>44 < ?D4>F<G5E>>= >D<5=F4F<< 6 >5D47>64=<<;  
÷ >55E?5G5=<5 74D4=F<= ?D464 D555=>4 =4 4>?>?=<F5?L=>5 >5D47>64=<5; 
÷ F6>DG5E>>5 D476<F<5 ?<G=>EF< < D54?<74F<O E MF>= F5?LN ?D>7D4<<        4>?>?=<F5?L=>7> 

>5D47>64=<O 6 <=F5D5E4E ?<G=>EF< D555=>4, >5M5EF64,       7>EG44DEF64; 
÷ D476<F<5 <>F<64F<< ?<G=>EF< > ?>7=4=<N < F6>DG5EF6G; 
÷ D>D<<D>64=<5 >5M5= >G?LFGDO ?<G=>EF< >5GG4NM<EEO, <E 444?F4F<O > 6<7=< 6         

>5M5EF65; 
÷ >D74=<74F<O E>45D64F5?L=>7> 4>EG74; 
÷ >55E?5G5=<5 =5>5E>4<<OE GE?>6<= 4?O ?<G=>EF=>7> D476<F<O, G>D5??5=<O 74>D>6LO, 

?D>D5EE<>=4?L=>7> E4<>>?D545?5=<O < F6>DG5E>>7> FDG44 45F5=. 
 

3.6. �E>55==>EF< GG55=>7> ??4=4  

�4=OF<O 6 >5N54<=5=<OE ?D>6>4OFEO ?> 4>?>?=<F5?L=O< >5M5D476<64NM<<  ?D>7D4<<4< 
D47?<G=>= =4?D46?5==>EF< (5EF5EF65==>=4GG=>=, D<7>G?LFGD=>-E?>DF<6=>=, EG4>65EF65==>=, 
FGD<EFE>>->D45654G5E>>=, E>F<4?L=>=, F5E=<G5E>>=).  
�4=OF<O 6 >5N54<=5=<OE <>7GF ?D>6>4<FLEO ?> 7DG??4<, <=4<6<4G4?L=> <?< 6E5< E>EF46>< 
>5N54<=5=<O.  
'D>65=L >E6>5=<O 4>?>?=<F5?L=OE ?D>7D4<< 3 >5M5D476<64NM<=.  
%?5F<D<G5E><<< >E>55==>EFO<< GG55=>7> ??4=4 O6?ONFEO:  
  >?>D4 =4 <=F57D4F<N >E=>6=OE < 4>?>?=<F5?L=OE >5D47>64F5?L=OE ?D>7D4<<, <E 
<56?D54<5F=O5 < <5F4?D54<5F=OE E4D4>F5D;  
  6>7<>6=>EFL ?>EFD>5=<O <=4<6<4G4?L=>= >5D47>64F5?L=>= FD45>F>D<< D476<F<O D555=>4 
< 57> <=4<6<4G4?L=>7> 7D4D<>4 ?D55O64=<O 6 >5D47>64F5?L=>< GGD5645=<<;  
  4>F<6=>5 GG4EF<5 45FE><E >5M5EF65==OE >5N54<=5=<= < >D74=>6 GG5=<G5E>>7> 
E4<>G?D46?5=<O 6 D54?<74F<< 4>?>?=<F5?L=OE >5M5>5D47>64F5?L=OE ?D>7D4<<;  
     �D< D54?<74F<< 4>?>?=<F5?L=OE >5M5D476<64NM<E ?D>7D4<< <E?>?L7GNFEO D47?<G=O5 
>5D47>64F5?L=O5 F5E=>?>7<<, 6 F>< G<E?5 >><?LNF5D=O5. �?O GG4M<EEO E >7D4=<G5==O<< 
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6>7<>6=>EFO<< 74>D>6LO, 45F5=-<=64?<4>6, ?5447>7< 4>?>?=<F5?L=>7> >5D47>64=<O >D74=<7GNF 
>5D47>64F5?L=O= ?D>F5EE ?> 4>?>?=<F5?L=O<  >5M5>5D47>64F5?L=O< ?D>7D4<<4< E GG5F>< 
>E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O G>474==OE >4F57>D<= GG4M<EEO.  
�464O= GG4M<=EO <<55F ?D46> 74=<<4FLEO 6 =5E>>?L><E >5N54<=5=<OE, <5=OFL <E.  
     �D< D54?<74F<< 4>?>?=<F5?L=OE >5M5D476<64NM<E ?D>7D4<< >5N54<=5=<O <>7GF 
>D74=<7>6O64FL < ?D>6>4<FL <4EE>6O5 <5D>?D<OF<O, E>74464FL =5>5E>4<<O5 GE?>6<O 4?O 
E>6<5EF=>7> FDG44 < (<?<) >F4OE4 GG4M<EEO, D>4<F5?5= (74>>==OE ?D54EF46<F5?5=).  
�D< E>EF46?5=<< GG55=>7> ??4=4 4>?>?=<F5?L=>7> >5D47>64=<O =4 2020/2021 GG55=O= 7>4 
GG<FO64NFEO >?NG56O5 45?4 < <5D>?D<OF<O, F4><5 >4>: <5D>?D<OF<O, ?>E6OM5==O5 7>4G 
M>>?>7<<, N5<?5==O5 <5D>?D<OF<O, ?>E6OM5==O5 �>5545 6 ���, �D57<45=FE><5 E>D56=>64=<O, 
%?4DF4><444 L>>?L=<>>6, F5EF<D>64=<5 E?>DF<6=>7> >><??5>E4 =>D< �&�, >5M5L>>?L=O= 
<5D>?D<OF<O, N5<?5= /��� < 4D. � D45>F5 >5N54<=5=<= ?D< =4?<G<< GE?>6<= <>7GF 
GG4EF6>64FL E>6<5EF=> E =5E>65DL5==>?5F=<<< GG4M<<<EO <E D>4<F5?< (74>>==O5 
?D54EF46<F5?<) 557 6>?NG5=<O 6 >E=>6=>= E>EF46 ?5447>7>6 4>?>?=<F5?L=>7> >5D47>64=<O.  
 
3.7. �E>55==>EF< D56<<4 < >D74=<74F<< >5D47>64F5?L=>7> ?D>F5EE4  

   'G55=O= ??4= >D<5=F<D>64= =4 L5EF<4=56=GN (2-11 >?.) < ?OF<4=56=GN (14,15,16 >?4EEO < 
>?4EEO =4G4?L=>= L>>?O 4?O >5GG4NM<EEO, <<5NM<E >7D4=<G5==O5 6>7<>6=>EF< 74>D>6LO) 
=545?N < E>EF46?5= E GGUF>< E>F<4?L=>7> 74>474 45F5= < <E D>4<F5?5= (74>>==OE 
?D54EF46<F5?5=) =4 4>?>?=<F5?L=O5 >5D47>64F5?L=O5 GE?G7<, 4 F4>65 E GGUF>< >44D>6>7>, 
?D>7D4<<=>-<5F>4<G5E>>7> < <4F5D<4?L=>-F5E=<G5E>>7> >55E?5G5=<O >5D47>64F5?L=>7> 
?D>F5EE4. 'G55=O= ??4= ?D54GE<4FD<645F D54?<74F<N ?D>7D4<< ?> L5EF< =4?D46?5==>EFO<: 
EG4>65EF65==4O (7 ?D>7D4<<), FGD<EFE>>->D45654G5E>4O (1 ?D>7D4<<O), D<7>G?LFGD=>-
E?>DF<6=4O (5 ?D>7D4<<), 5EF5EF65==> - =4GG=4O (2 ?D>7D4<<O), F5E=<G5E>4O (7 ?D>7D4<<), 
E>F<4?L=> - ?5447>7<G5E>4O (3 ?D>7D4<<O) 
�4G4?> GG55=>7> 7>44 - 01.09.2022 7>44, >>>=G4=<5 - 31.05.2023 7>44.  
$56<< D45>FO < D4E?<E4=<O <4>E<<4?L=> GG<FO645F GG55=GN =47DG7>G L>>?L=<>>6 ?> 
>E=>6=>= >5D47>64F5?L=>= ?D>7D4<<5 < >F65G45F 74?D>E4< D>4<F5?5= (74>>==OE 
?D54EF46<F5?5=).  
�D>4>?6<F5?L=>EFL GG55=>7> 7>44 E>EF46?O5F:  
6 2-4-E >?4EE4E - 34 =545?<, GG<FO64O >5GG5=<5 ?> >E>5><G ??4=G 6 >4=<>G?OD=>5 6D5<O, 6 1-E 
>?4EE4E-33 =545?<, 6 5-8,10 >?4EE4E - 34 =545?L, 9,11 >?4EEO - 33 =545?< 6 E6O7< E ?D>6545=<5< 
7>EG44DEF65==>= (<F>7>6>=) 4FF5EF4F<< ?> 25.05.2021 7.  
�5D<>4<G=>EFL GG55=OE 74=OF<= (2-3 D474 6 =545?N) >?D545?5=4 6 E>>F65FEF6<< E =>D<4F<64<< 
%4=�<� 2.4.4.3172-14. "%4=<F4D=>-M?<45<<>?>7<G5E><5 FD55>64=<O > GEFD>=EF6G, E>45D64=<N 
< >D74=<74F<< D56<<4 D45>FO >5D47>64F5?L=OE >D74=<74F<= 4>?>?=<F5?L=>7> >5D47>64=<O 
45F5=. �545?L=4O =47DG7>4 =4 >4=G 7DG??G E>EF46?O5F 2 GG55=OE G4E4 6 ?5D6O= 7>4 >5GG5=<O, 2 
GG55=OE G4E4 3 6> 6F>D>= 7>4 >5GG5=<O. �>4>64O =47DG7>4 E>>F65FEF65==> E>EF46?O5F, 6 ?5D6O= 
< 6F>D>= 7>4O >5GG5=<O 3 70 G4E>6, 7,8,10 >?4EEO, 1,2 ?>47DG??O 7>4>64O =47DG7>4 E>EF46?O5F 
140 G4E>6, 9, 11 >?. 1,2 ?>47DG??O 7>4>64O =47DG7>4 E>EF46?O5F 136 G4E>6. �D>6545=<5 74=OF<= 
D57G?<DG5FEO D4E?<E4=<5<, E>EF46?5==O< E >?>D>= =4 E4=<F4D=>-7<7<5=<G5E><5 =>D<O E 
GG5F>< 747DG65==>EF< >45<=5F>6, ?>65?4=<= D>4<F5?5= < 45F5= ?> ?D<=F<?G 6-4=56=>= 
D45>G5= =545?<. �D>6545=<5 74=OF<= < <5D>?D<OF<= 4?O 45F5= 7-13 ?5F D4=55 08-00 < ?>E?5 20-
00 =5 4>?GE>45FEO, 4?O GG4M<EEO 14-18 ?5F 4> 20.30. �4?>?=O5<>EFL GG55=>= 7DG??O 3 4> 15 
G5?>65> (4> 20 D<7>G?LFGD=>->74>D>6<F5?L=>5 =4?D46?5=<5, EG4>65EF65==>5 =4?D46?5=<5 -
E>D5>7D4D<O), 6 E>>F65FEF6<< E =>D<4F<64<< %4=�<� 2.4.4.3172-14.  
�4=OF<O ?D>6>4OFEO 6 E6>5>4=>5 4?O GG4M<EEO 6=5GD>G=>5 6D5<O ?> E>EF46?5==><G 
D4E?<E4=<N, GF65D645==><G 6 E>>F65FEF6<< E E4=<F4D=>-M?<45<<>?>7<G5E><<< ?D46<?4<< < 
=>D<4F<64<<. �564G 74=OF<O<< ?> >5M5>5D47>64F5?L=O< ?D>7D4<<4< < 74=OF<O<< ?> 
4>?>?=<F5?L=O< >5M5D476<64NM<< ?D>7D4<<4< 45F5= ?5D5DO6 E>EF46?O5F 1 G4E.  
�D>4>?6<F5?L=>EFL GG55=>7> G4E4 3 30 <<=GF 4?O 45F5= 7-8 ?5F E >5O74F5?L=O< 10-F< 
<<=GF=O< ?5D5DO6><, 40 <<=. 4?O 45F5= 9-18 ?5F. �>E?5 1 (>4=>7>) GG55=>7> G4E4 
?D54GE<>FD5= ?5D5DO6 4?<F5?L=>EFLN =5 <5=55 10 <<= 4?O >F4OE4 45F5= < ?D>65FD<64=<O 
?><5M5=<=.  
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� >4=<>G?OD=>5 6D5<O >5GG5=<5 >D74=<7G5FEO 6 E>>F65FEF6<< E >E>5O< ??4=>< D45>FO =4 
>4=<>G?4E, GF65D645==>< 6 ?>>4?L=OE 4>F4E L>>?O-<=F5D=4F4. �5OF5?L=>EFL L>>?L=<>>6 
>EGM5EF6?O5FEO >4> 6 >4=>6>7D4EF=OE, F4> < 6 D47=>6>7D4EF=OE >5N54<=5=<OE ?> <=F5D5E4<.  
 
3.7.$>D<O >5GG5=<O < 4FF5EF4F<< >5GG4NM<EEO 

� E>>F65FEF6<< E ?D>7D4<<>= ?5447>7 <E?>?L7G5F D47?<G=O5 D>D<O >5D47>64F5?L=>= 
45OF5?L=>EF<: 4G4<F>D=O5 < 6=54G4<F>D=O5 (E4<>EF>OF5?L=O5) 74=OF<O, >>F>DO5 ?D>6>4OFEO ?> 
7DG??4< <?< <=4<6<4G4?L=>. �5447>7 >?D545?O5F D>D<O 4G4<F>D=OE 74=OF<=, 4 F4>65 D>D<O, 
?>DO4>> < ?5D<>4<G=>EFL ?D>6545=<O ?D><56GF>G=>= 4FF5EF4F<< GG4M<EEO, >?D545?O5F 
>?NG56>5 45?> 6 >5N54<=5=<<: >464GN G5F65DFL < 6 >>=F5 7>44 (D5EF<64?<, D>DG<, M>E>GDE<<, 
>>=F5DFO, 6OEF46><, M>E?54<F<<, >?<<?<44O, E>D56=>64=<O, ?><E>>6O5 < =4GG=O5 
<EE?54>64=<O, >5M5EF65==>-?>?57=O5 ?D4>F<>< < 4D.).  
      �F>7>64O 4FF5EF4F<O ?D>6>4<FEO 46464O 6 GG55=O= 7>4 (45>45DL, <4=), E F5?LN 
?D54EF46?5=<O D57G?LF4F>6 D45>FO ?> 4>?>?=<F5?L=O< >5M5D476<64NM<E ?D>7D4<<4< 74 
?5D<>4 6E57> >5GG5=<O, 6 D>D<5 74M<FO ?D>5>F>6 GG4M<EEO, D5EF<64?5=, 6OEF46>>, 74G5F>6, 
?>>474F5?L=OE 6OEFG??5=<= < 4DG7<E <5D>?D<OF<=.  
�5447>7 �� 6 ?D465 E4<>EF>OF5?L=> >?D545?<FL. D>D<G < E>45D64=<5 ?D><56GF>G=>= < 
<F>7>6>= 4FF5EF4F<< (74G5F, F6>DG5E><= ?D>5>F, E44G4 =>D<4F<6>6 < F.4.). 
�D< >F5=<64=<< >5GG4NM<EEO 6 �� <E?>?L7G5FEO 557>F<5F>G=4O E<EF5<4 (74G5F/=574G5F, 54??O, 
GD>6=<). $57G?LF4FO ?D><56GF>G=>= < <F>7>6>= 4FF5EF4F<< 74=>EOFEO 6 654><>EFL ?5447>74 
(74G5F, =574G5F).  
      �?O GG4M<EEO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, 45F5=-<=64?<4>6 >D74=<7GNF 
4FF5EF4F<N E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O G>474==OE >4F57>D<= GG4M<EEO. 
�>D<4F<6=>-?D46>64O >E=>64 GG55=>7> ??4=4 ?> 4>?>?=<F5?L=><G >5D47>64=<N. 

'G55=O= ??4= 4>?>?=<F5?L=>7> >5D47>64=<O E>EF46?O5FEO E GG5F>< ?D545?L=> 4>?GEF<<OE 
=47DG7>>, >?D545?O5<OE 6 E>>F65FEF6<< E %4=<F4D=>-M?<45<<>?>7<G5E><<< ?D46<?4<< < 
=>D<4F<64<< %4=�<� 2.4.4.1251-03.  

 
 
 
 

''���/� ���� 
�������&��,���� ��$�������/ �� 2022-2023 ''. ��� 

7 

 

 

 

 

�4?D46?5==>

EFL 

 

�4<<5=>64=<5 

>5D47>64F5?L=>

= ?D>7D4<<O 

 

�>?<G5EF6>   7DG?? 

 

 

�>? 

<G5EF6> 

45F5= 

6 =<E 

 

'4EO 6 =545?N 

�E57> 1 

7>4 

2 

7>4 

3 

7>4 

4 

7>4 

�E57> 1 

7>4 

2 

7>4 

3 

7>4 

4 

7>4 

1. $<7>G?LFGD=>

-E?>DF<6=4O 

�4F<>=4?L=O5 

6<4O E?>DF4 

3 

1 1 1 * 

30 

 

5 2,5 2,5 * * 

2. $<7>G?LFGD=>

-E?>DF<6=4O 

�4E>5F5>? 2 
1 1 * * 30 4 2 2 * * 

3. $<7>G?LFGD=>

-E?>DF<6=4O 

.=4D<55F 
2 2 * * * 40 6 6 * * * 
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4. $<7>G?LFGD=>

-E?>DF<6=4O 

�O6=O= E?>DF 

1 1 * * * 10 3 3 

* 

 

* * 

5. $<7>G?LFGD=>

-E?>DF<6=4O 

�>46<6=O5 <7DO 
1 1 * * * 20 2 2 * * * 

6. $<7>G?LFGD=>

-E?>DF<6=4O 

�>?5=5>? 
2 2 * * * 30 4 4 * * * 

7. %G4>65EF65==

4O 

%>6D5<5==O= 

F4=5F. �>45D= 
2 2 2 * * 20 18 9 9 * * 

8. %G4>65EF65==

4O 

%>?=5G=O= <<D 

F4=F4 
2 2 2 * * 30 6 3 3 * * 

9. %G4>65EF65==

4O 

�E>GEEF6> 6>>4?4 
2 2 * * * 20 6 6 * * * 

10. %G4>65EF65==

4O 

,>>?L=O= F54FD 

«�45FM=>>» 
1 1 * * * 15 2 2 * * * 

11. %G4>65EF65==

4O 

«�4EF5DE>4O 

G<5?LF4» 
3 3 * * * 20 3 3 * * * 

12. %G4>65EF65==

4O 

&54FD -F=><>4O 

«�<D E565D4» 

(,��/) 

2 2 * * * 20 3 3 * * * 

13. %G4>65EF65==

4O 

$57L54 ?> >>EF< 
1 1 * * * 10 2 2 * * * 

14. &GD<EFE>>-

>D45654G5E>4

O 

�D45654  

1 1 * * * 15 3 3 * * * 

15. �EF5EF65==>-

=4GG=4O 

�5=F4?L=4O 

4D<D<5F<>4 
2 1 1 * * 20 4 * 2 2 * 

16. �EF5EF65==>-

=4GG=4O 

�?<<4F<G5E>4O 

L>4FG?>4 
1 1 * * * 20 1 1 * * * 

17. %>F<4?L=>-

7G<4=<F4D=4O 

«,>>?L=>5 

?5E=<G5EF6>. 

�5?5=O= 

?4FDG?L» 

1 1 * * * 20 4 4 * * * 

18. %>F<4?L=>-

7G<4=<F4D=4O 

«�D>D?D>5O» 
2 2 * * * 20 3 3 * * * 

19. %>F<4?L=>-

7G<4=<F4D=4O 

�46O>< 

5G4GM57> 
2 2 * * * 20 4 4 * * * 

20. F5E=<G5E>4O �5E5?O= 

<>=<F>D 
3 1 1 1 * 36 3 1 1 1 * 

21. F5E=<G5E>4O �5?<>E 2 1 1 * * 18 2 1 1 * * 
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3.8. $>D<O >D74=<74F<< 45FE><E >5N54<=5=<=: >DG6><, E5>F<< 
$>D<O ?D>6545=<O >DG6>>6, E5>F<= 

 
�=4<6<4G4?L=O5, 7DG??>6O5, <4EE>6O5 

 
 

&5>D5F<G5E><5 

  

�D4>F<G5E><5 

 
   
 4. �D>7D4<<=> 3 <5F>4<G5E>>5 >55E?5G5=<5 >5N54<=5=<= 4>?>?=<F5?L=>7> >5D47>64=<O 

45F5=. 

    �5447>7< 4>?>?=<F5?L=>7> >5D47>64=<O 6 2022-2023 GG55=>< 7>4G 5G4GF D45>F4FL ?> 
444?F<D>64==O< < <>4<D<F<D>64==O< ?D>7D4<<4<, ?> ?D>7D4<<4<, D47D45>F4==O< E4<<<< 
?5447>74<< E GG5F>< E?5F<D<>< %5OE<=E>>= L>>?O-<=F5D=4F4. �E5 ?D>7D4<<O D4EE<>FD5=O < 
4>?GM5=O > D45>F5 =4 467GEF>6E>>< ?54E>65F5. 
 
5. %>45D64=<5 ?> GD>6=O< >5GG5=<O, =4?D46?5==>EFO< 

 %<EF5<4 4>?>?=<F5?L=>7> >5D47>64=<O 6 L>>?5-<=F5D=4F5 <<55F D4765F6?5==GN EFDG>FGDG < 
6>?NG45F E?54GNM<5 =4?D46?5==>EF<:  
&5E=<G5E>4O =4?D46?5==>EFL: 
&5?L: E>744=<5 GE?>6<= 4?O D>D<<D>64=<O F5E=<G5E><E G<5=<= < =46O>>6, 6>E?<F4=<5 
EG4>65EF65==>7> 6>GE4. 
�EF5EF65==>=4GG=4O =4?D46?5==>EFL: 
&5?L: D4EL<D<FL 7=4=<O >5GG4NM<EEO 6 D4<>4E >5D47>64F5?L=OE >5?4EF5= «�4F5<4F<>4», 
«->>?>7<O», «�5>7D4D<O», «�>DG64NM<= <<DD», =4GG=> <EE?54>64F5?LE>4O D45>F4, 
D>D<<D>64FL ?>?<F5E=<G5E><5 7=4=<O, D476<64FL <=F5D5E D55U=>4 > <7GG5=<N 5<>?>7<<, 
75>7D4D<<, <4F5<4F<><, M>>?>7<< < >ED4=5 ?D<D>4O. 
$<7>G?LFGD=>-E?>DF<6=4O =4?D46?5==>EFL: 

22. F5E=<G5E>4O «�E=>6O 

D>5>F>F5E=<><» 
2 1 1 * * 16 18 9 9 * * 

23. F5E=<G5E>4O «3D 

<>45?<D>64=<5» 
1 1 * * * 10 4 4 * * * 

24. F5E=<G5E>4O ����>>=EFDG<D>6

4=<5 
1 1 * * * 12 1 1 * * * 

25. F5E=<G5E>4O ���� 

D>5>F>F5E=<>4 
3 * 2 1 1 36 4 * 2 1 1 

26. F5E=<G5E>4O �G5>D> 1 1 * * * 15 3 3 * * * 

 �5E54O 

 %>>5M5=<O 

 �EFD5G4 E <=F5D5E=O<< ?N4L<< 

 ->E>GDE<< 

 �D>E<>FD D<?L<>6 

  �>=>GDEO 

 �OEF46>< 

 %>D56=>64=<O 

 �>>474F5?L=O5 6OEFG??5=<O 

 �D474=<>< 

 �<>F>D<=O 
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&5?L: >><?5=E<D>64FL ?>6OL5==O= GD>65=L <=F5??5>FG4?L=>= 45OF5?L=>EF<, ?><>GL E>G5F4FL 
G<EF65==GN < 46<74F5?L=GN 4>F<6=>EFL. 
%G4>65EF65==4O =4?D46?5==>EFL:  
&5?L: 6>E?<F4=<5 EG4>65EF65==>7> 6>GE4 < D>D<<D>64=<5 G >5GG4NM<EEO ?>FD55=>EF< 6 
MEF5F<G5E>>< E4<>D476<F<<. 
&GD<EFE>>->D45654G5E>4O =4?D46?5==>EFL: &5?L: D4EL<D<FL 7=4=<O >5GG4NM<EEO 6 D4<>4E 
>5D47>64F5?L=OE >5?4EF5= «�EF>D<O D>4=>7> >D4O», «�D456545=<5» 4D., >FD47<FL F5==>EF=O5 
4E?5>FO <=>7<E ?D54<5F>6 7G<4=<F4D=>7> < EG4>65EF65==>7> F<>?>6. $47=O<< ?GFO<< 6E5 >=< 
654GF > >4=>= F5?<: ?><>GL GG5=<>G, F6>DG5E>< >6?44564O D>4=O< O7O>><, >E64<64FL 4GE>6=O= 
>?OF G5?>65G5EF64.  
%>F<4?L=>-?5447>7<G5E>4O =4?D46?5==>EFL: 

&5?L: >6<445<O5 ?>7<F<6=O5 <7<5=5=<O 6 G5?>65>5 (<?< 7DG??5 ?N45=), >>F>DO5 ?D><7>L?< 6 
D57G?LF4F5 >EGM5EF6?5=<O E?5F<4?L=> ?>47>F>6?5==>= < ??4=><5D=> ?D>6545==>= E<EF5<O 
45=EF6<= E?5F<4?<EF>6 
 
 
7 
?/? 

'D>65=L 
>5D47>64=<O 

�4?D46?5==>EFL 
>5M5>5D47>64F5?L=>= 
?D>7D4<<O 

�<4 
>5D47>64F5?L=>= 
?D>7D4<<O 

�>D<4F<6=O= 
ED>> >E6>5=<O  

1 �4G4?L=>5 
>5M55 
>5D47>64=<5 
�E=>6=>5 
>5M55 
>5D47>64=<5 
%D54=55 >5M55 
>5D47>64=<5 

&5E=<G5E>4O �>?>?=<F5?L=4O 
>5M5D476<64NM4O 

1 7>4, 2 7>44 
 
 
 
 
 
 
 
1 7>4 
 
 

 

 

1 7>4, 2 7>44, 3 
7>44 

 

 

 

1 7>4, 2 7>44 

 

 

 

1 7>4 

2 �4G4?L=>5 
>5M55 
>5D47>64=<5 
�E=>6=>5 
>5M55 
>5D47>64=<5 
%D54=55 >5M55 
>5D47>64=<5 

�EF5EF65==>=4GG=4O 

3 �4G4?L=>5 
>5M55 
>5D47>64=<5 
�E=>6=>5 
>5M55 
>5D47>64=<5 
%D54=55 >5M55 
>5D47>64=<5 

$<7>G?LFGD=>-E?>DF<6=4O 

4 �4G4?L=>5 
>5M55 
>5D47>64=<5 
�E=>6=>5 
>5M55 
>5D47>64=<5 
%D54=55 >5M55 
>5D47>64=<5 

%G4>65EF65==4O 

5 �E=>6=>5 
>5M55 
>5D47>64=<5 

&GD<EFE>>->D45654G5E>4O 
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%D54=55 >5M55 
>5D47>64=<5 

 

 

1 7>4 

6 �E=>6=>5 
>5M55 
>5D47>64=<5 
%D54=55 >5M55 
>5D47>64=<5 

%>F<4?L=>-
?5447>7<G5E>4O 

 

 

6. %>45D64=<5 ?D>7D4<<, D54?<7G5<OE ?> 4>?>?=<F5?L=><G >5D47>64=<N 45F5= < 

67D>E?OE 

'G55=O= ??4= ?D54GE<4FD<645F D54?<74F<N ?D>7D4<< ?> L5EF< =4?D46?5==>EFO<: EG4>65EF65==4O 
(7 ?D>7D4<<), FGD<EFE>>->D45654G5E>4O (1 ?D>7D4<<4), D<7>G?LFGD=>-E?>DF<6=4O (6 ?D>7D4<<), 
5EF5EF65==> - =4GG=4O (2 ?D>7D4<<O), F5E=<G5E>4O (7 ?D>7D4<<), E>F<4?L=> - 7G<4=<F4D=4O (3 
?D>7D4<<O) 
%G4>65EF65==4O =4?D46?5==>EFL (8 ?D>7D4<<)  

 «%>6D5<5==O= F4=5F. �>45D=.», «%>?=5G=O= <<D F4=F4», «�E>GEEF6> 6>>4?4», «�4EF5DE>4O 
G<5?LF4», «&54FD -F=><>4O. �<D %565D4», «$57L54 ?> >>EF<», «L>>?L=O= F54FD �45FM=>>» 
&GD<EF>>->D45654G5E>4O =4?D46?5==>EFL (1 ?D>7D4<<4) «�D45654»  
&5E=<G5E>4O =4?D46?5==>EFL (7 ?D>7D4<<) 
«�5E5?O= <>=<F>D», «�5?<>E», «�E=>6O D>5>F>F5E=<><», «����>>=EFDG<D>64=<5», «���� 
D>5>F>F5E=<>4», «�G5>D>», «3D <>45?<D>64=<5» 
$<7>G?LFGD=>-E?>DF<6=4O =4?D46?5==>EFL (6 ?D>7D4<<) 
«�4F<>=4?L=O5 6<4O E?>DF4», «�4E>5F5>?», «�O6=O= E?>DF», «�>?5=5>?», «.=4D<55F», 
«�>46<6=O5 7DO» 
�EF5EF65==> - =4GG=4O =4?D46?5==>EFL (2 ?D>7D4<<O) 
 «�5=F4?L=4O 4D<D<5F<>4», «�?<<4F<G5E>4O L>4FG?>4» 
 %>F<4?L=>-7G<4=<F4D=4O =4?D46?5==>EFL (3 ?D>7D4<<O) 
 «�46O>< 5G4GM57>», «�D>D�D>5O», «�5?5=O= ?4FDG?L» 
 

2.6.$54?<74F<O 4>?>?=<F5?L=OE >5M5D476<64NM<E ?D>7D4<< 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�E>GEEF6> 6>>4?4» 
�<4 45OF5?L=>EF<: 6>>4?L=4O EFG4<O 4?O 45F5= 8 -17 ?5F 
�D>7D4<<4 D4EEG<F4=4 =4 1 7>4 >5GG5=<O ?D< ?>EF>O==>< E>EF465 45F5= >5N5< GG55=OE G4E>6 3 1 
7>4 >5GG5=<O 210 G (6 G. 6 =545?N). 
�>7D4EF GG4M<EEO: - 8 -17 ?5F, �4?>?=O5<>EFL GG55=OE 7DG?? 3 1 7DG??4, 6>7D4EF 7-10 ?5F 10 
G5?>65>, 11-17 -15 G5?. 
� D57G?LF4F5 ?5D6>7> 7>44 >5GG5=<O 6 6>>4?L=>= EFG4<< GG4M<=EO 4>?65= 7=4FL < ?>=<<4FL: �>>4? 
3 E6>5>4=> 6?445FL 7>?>E><, ?D46<?L=O< 4OE4=<5<, >MGM5=<5< EF<?O <E?>?=O5<OE 
?D><76545=<=. $5?5DFG4D GG4M57>EO 4>?65= 6>?NG4FL =5 <5=55 10 >>=F5DF=OE ?D><76545=<= 
D47?<G=>7> E4D4>F5D4. 'G5=<> 4>?65= <<5FL E6>= EF<?L <E?>?=5=<O, 5OFL 4DF<EF<G=O< < 
D4E>>64==O< =4 EF5=5. 
�>>4?L=4O 7DG??43 GG4M<=EO 4>?65= GG4EF6>64FL 6 MEFD44=>< 4=E4<5?5. '65D5==> 45D64FL 
?4DF<N, >5?444FL GG6EF6>< 4=E4<5?O. %F5=<G5E>>5 <4EF5DEF6> 3 74 >GDE >5GG5=<O GG5=<> 4>?65= 
>6?445FL >E=>6=O<< ?D<U<4<< 4>FUDE>>7> <4EF5DEF64 (4<>F<O, M<>F<>=4?L=>5 6OD465=<5 
EF5=<G5E>>7> >5D474).  
�D><56GF>G=4O 4FF5EF4F<O: EF5=<G5E>>5 6OEFG??5=<5.  
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: ?D54EF46?5=<5 ?<G=>7> ?>DFD>?<>, 
>D74=<74F<O $5EF<64?O ?5E=<, GG4EF<5 6 F6>DG5E><E >>=>GDE4E. �D54EF46?5=<5 <<=<->>=F5DF=OE 
?D>7D4<<. 
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�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «%>?=5G=O= <<D F4=F4» 
�<4 45OF5?L=>EF<: F4=F564?L=4O EFG4<O 4?O 45F5= 7-11 ?5F 
F4=F564?L=4O EFG4<O 4?O 45F5= 7-11 ?5F 
�D>7D4<<4 D4EEG<F4=4 =4 2 7>44 >5GG5=<O ?D< ?>EF>O==>< E>EF465 45F5=  >5N5< GG55=OE G4E>6 3 
272 G. 6 7>4 8 G. 6 =545?N (1 7>4 >5GG5=<O 3 2 G4E4 (7-8 ?5F), 1 7>4 >5GG5=<O 6 G.(8-11 ?.). �>7D4EF 
GG4M<EEO: - 7-11 ?5F, �4?>?=O5<>EFL >4=>=  GG55=>= 7DG??O 3 10-15 G5?>65>.  � D57G?LF4F5 
>E6>5=<O ?D>7D4<<O 1-2 7>44 >5GG5=<O 45F< 4>?6=O >6?445FL >><<G=<>4F<6=O< =46O>><, 
>E>7=4FL E6>N 7=4G<F5?L=>EFL 6 >>??5>F<65, 4>?6=O 7=4FL < G<5FL: ?>7<F<< DG> < =>7, =4764=<O 
>?4EE<G5E><E 46<65=<=; ?5D6<G=O5 E6545=<O >5 <E>GEEF65 E>D5>7D4D<<. 6>E?D<=<<4FL 46<65=<5, 
>4> E<<6>? ?D5>D4E=>7>, E6>5>4=>7> E?>E>54 E4<>6OD465=<O, E>54<=OFL >F45?L=O5 46<65=<O 6 
E>D5>7D4D<G5E>>= >><?>7<F<<; <E?>?=OFL 46<65=<O >?4EE<G5E>>7> M>75DE<E4. � >>=F5 3-4 7>44 
>5GG5=<O GG4M<5EO 4>?6=O 7=4FL < G<5FL  GG6EF6>64FL < F5=<FL >D4E>FG, EF4FL E>F<4?L=>-
4>F<6=>= ?<G=>EFLN, 4>?6=O 7=4FL: =4764=<O >?4EE<G5E><E 46<65=<= =>6>7> M>75DE<E4, 7=4G5=<5 
E?>6 «?574F>», «EF>>4-F>», D<F<, 4>F5=F, F5<?, 7D4<>F=> <E?>?=OFL 46<65=<O M>75DE<E4 < 
E>D5>7D4D<G5E><E ?>EF4=>6>>; >?D545?OFL F5<?, D<F<, E4D4>F5D 6 ?D54?4745<>= <5?>4<<, 
E4<>EF>OF5?L=> ?D<4G<O64FL 46<65=<O, D<7GDO 6> 6D5<O 
�D><56GF>G=4O 4FF5EF4F<O: EF5=<G5E>>5 6OEFG??5=<5.  
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: ?D54EF46?5=<5 ?<G=>7> ?>DFD>?<>, 
>D74=<74F<O >FG5F=>7> >>=F5DF4, GG4EF<5 6 F6>DG5E><E >>=>GDE4E. �D54EF46?5=<5 <<=<-
>>=F5DF=OE ?D>7D4<<. 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «%>6D5<5==O= F4=5F. �>45D=» 
�<4 45OF5?L=>EF<: F4=F564?L=4O EFG4<O 4?O 45F5= 12 -17 ?5F 
�D>7D4<<4 D4EEG<F4=4 =4 2 7>44 >5GG5=<O ?D< ?>EF>O==>< E>EF465 45F5=  >5N5< GG55=OE G4E>6 3  
630 G. 6 7>4. 1 7>4 >5GG5=<O 3 315G.(18G. 6 =545?N)-2 7DG??O , 2 7>4 >5GG5=<O -315G. (18G.6 =545?N) 
 �>7D4EF GG4M<EEO: - 12 -17 ?5F, �4?>?=O5<>EFL GG55=OE 7DG?? 3 4> 10 G5?>65>.  
� D57G?LF4F5 ?5D6>7> 7>44 6 F4=F564?L=>=   EFG4<< GG4M<=EO 4>?65= 7=4FL < ?>=<<4FL 
�D54EF46?5=<5 > E>6D5<5==>< F4=F5, 57> <EF>>4E, (E<?-E>?), >E=>6=O5 FD55>64=<O E>6D5<5==>7> 
F4=F4,  =4764=<O 46<65=<= (4=7?<=E>4O F5D<<=>?>7<O), <E ?5D56>4 < 7=4G5=<5;; 
�?445FL  ?>EF4=>6>>= >>D?GE4, DG>, =>7, 7>?>6O, M?5<5=F4D=>= >>>D4<=4F<< 46<65=<=, =46O>4<< 
<G7O>4?L=>-??4EF<G5E>>7> <=F>=<D>64=<O; �<5FL  =46O>< <E?>?=5=<O F4=F564?L=OE >><5<=4F<= 
< >><?>7<F<=, =46O>< >>??5>F<6=>7> <E?>?=<F5?LEF64. 
 � D57G?LF4F5 2 7>44 >5GG5=<O GG4M<=EO 4>?65= 7=4FL < ?>=<<4FL  �D54EF46?5=<5  > E>6D5<5==>< 
F4=F5, 57> <EF>>4E (4647, <>45D=), =4764=<O 46<65=<=, ?5D56>4 < 7=4G5=<5,  ?>7<F<< DG> < =>7,  
>E=>6=O5 EF<?<, D4745?O, 6?445FL >>>D4<=4F<5= DG>, =>7, 7>?>6O,  G?D46=5=<O<< =4 D476<F<5 
D<7<G5E><E 44==OE,  5OEFD>F>= 74?><<=4=<O >><5<=4F<=, 
D45>F4FL 6 ?4D5, 6 7DG??5, <E?>?=OFL D47?<G=O5 FGDO (E E>7=GFO< >>?5=><, E >>=FD4>F<5=, ?> 
4<47>=4?< < F.4.), ?D54EF46?5=<5 > E>6D5<5==>< F4=F5 (D4=><-4647, M?5>FD<>-5G7<, 5D>465=-4647, 
>?4EE<G5E><= 4647), 6?445FL  D476<F>= E<?>= < 6O=>E?<6>EFLN, E>D5>7D4D<G5E>>= ?4<OFLN, G<5FL  
>><5<=<D>64FL 46<65=<O,  E4<>EF>OF5?L=> E>74464FL <G7O>4?L=>-46<74F5?L=O= >5D47, G<5FL 
D45>F4FL 6 4=E4<5?5. 
�D><56GF>G=4O 4FF5EF4F<O: EF5=<G5E>>5 6OEFG??5=<5.  
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: ?D54EF46?5=<5 ?<G=>7> ?>DFD>?<>, 
>D74=<74F<O >FG5F=>7> >>=F5DF4, GG4EF<5 6 F6>DG5E><E >>=>GDE4E. �D54EF46?5=<5 <<=<-
>>=F5DF=OE ?D>7D4<<. 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�4EF5DE>4O G<5?LF4» 
�<4 45OF5?L=>EF<: EFG4<O 45>>D4F<6=>-?D<>?44=>7> <E>GEEF64 4?O 45F5= 6 6>7D4EF5 11 -15 ?5F. 
�D>7D4<<4 D4EEG<F4=4 =4 1 7>4 >5GG5=<O ?D< ?>EF>O==>< E>EF465 45F5=  >5N5< GG55=OE G4E>6 3 
140 G. (4 G. 6 =545?N). �4?>?=O5<>EFL GG55=OE 7DG?? 3 4> 10 G5?>65>.  
� >>=F5 >5GG5=<O GG4M<5EO 4>?6=O 7=4FL < G<5FL  - D47?<G=O5 6<4O 45D564 < D57L5O ?> 45D56G 57> 
E6>=EF64 < ?D<<5=5=<5. 3 >E>55==>EF< ?>EFD>5=<O >><?>7<F<<, ?>=OF<5 E<<<5FD<O =4 ?D<<5D5 
545>G>< 6 ?D<D>45 < 6 D<EG=>5, >E=>6=O5 45>>D4F<6=O5 M?5<5=FO <=F5DL5D4; 
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- <EF>D<N 6>7=<>=>65=<O  < D476<F<O 5G<47>??4EF<><,  E6545=<O > <4F5D<4?4E, <=EFDG<5=F4E < 
?D<E?>E>5?5=<OE, F5E=<>G E>744=<O D45>F E <E?>?L7>64=<5< <OF>= 5G<47<,  E?>E>5O 
45>>D4F<6=>7> >D>D<?5=<O 7>F>6OE D45>F;  
 -?>=OF<5 «4???<>4F<O», 6<4O 4???<>4F<<, <EF>D<G5E><= M>E>GDE. &65F>6>5 < >><?>7<F<>==>5 
D5L5=<5; 
-GG<FO64FL E<<6>?<G5E>>5 7=4G5=<5 >5D47>6 < G7>D>6 6 ?D><76545=<OE =4D>4=>7> <E>GEEF64 3 
=47O64FL DG=>F<>=4?L=>5 =47=4G5=<5 ?D<E?>E>5?5=<= < <=EFDG<5=F>6;  
- 6O?>?=OFL ?D<5<O D47<5F>< 45F4?5= < ?D>EFOE <745?<= E ?><>MLN ?D<E?>E>5?5=<= (L45?>=, 
FD4D4D5F); 
- 6O?>?=OFL ?D<5<O G4>5=>= < 557>?4E=>= D45>FO < <=EFDG<5=F4<<: =>6=<FO, >4=F5?ODE><= =>6, 
DG54=>>, =>6>6>4, 4>?>F>, <>?>F>>,  
- 6O?>?=OFL 7D4D<G5E><5 ?>EFD>5=<O (D47<5F>G) E ?><>MLN G5DFU6=OE <=EFDG<5=F>6: ?<=5=>4, 
G7>?L=<>, F<D>G?L; 
- 6O5<D4FL <=EFDG<5=FO 6 E>>F65FEF6<< E D5L45<>= ?D4>F<G5E>>= 7444G5= 
- G<5=<5 D45>F4FL =4 7>=G4D=>< EF4=>5, F>4G5EF6> 
=45?N44FL < >?<EO64FL E6>=EF64 <E?>?L7G5<OE <4F5D<4?>6; 
- ?>45<D4FL <4F5D<4?O 6 746<E<<>EF< >F =47=4G5=<O < >>=EFDG>F<6=OE >E>55==>EF5= <745?<O; 
- E>G5F4FL D47=O5 ?> E6>=EF64<, 6<44< < D4>FGD5 <4F5D<4?O 6 >>=>D5F=OE <745?<OE, F6>DG5E><E 
D45>F4E 
 -4>5O64FL =5>5E>4<<GN <=D>D<4F<N (GEF=GN < 7D4D<G5E>GN). 
�D><56GF>G=4O 4FF5EF4F<O: 6OEF46>4, >>=>GDE 
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: F6>DG5E><5 ?D>5>FO, GG4EF<5 6 >>=>GDE4E, 
?5DE>=4?L=O5 6OEF46><. 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�5FE><= F54FD MF=><>4O «�<D %565D4» 
�4==4O ?D>7D4<<4 >DG6>4 45FE>>7> F54FD4  MF=><>4O «�<D %565D4» D4EEG<F4=4 =4 45F5= 6 6>7D4EF5 
11-15 ?5F, ?>MF><G ?D< D4E?D545?5=<< 7444=<= GG<FO645FEO 6>7D4EF 45F5=, <E ?>47>F>6?5==>EFL, 
EGM5EF6GNM<5 =46O>< < G<5=<O. 
      $45>G4O ?D>7D4<<4 D4EEG<F4=4 =4 140 G4E>6 6 7>4, <7 D4EGUF4 4 G. 6 =545?N, ?D>4>?6<F5?L=>EFL 
74=OF<= E>EF46?O5F 40 <<=GF E ?5D5DO6>< 10 <<=GF.  
%D>> D54?<74F<< ?D>7D4<<O: 1 7>4. 
 �4=OF<O ?> ?D>7D4<<5 4>?>?=<F5?L=>7> >5D47>64=<O 45FE>>7> F54FD4  MF=><>4O «�<D %565D4»,  
?>76>?OF D>D<<D>64=<N OD><E, F6>DG5E><E  E?>E>5=>EF5=, 7>F>6<FL > 67D>E?>= 6<7=<, 
6>E?<FO64FL FDG4>?N5<5, D>D<<D>64FL MEF5F<G5E><= 6>GE, GG6EF6>64FL 74D<>=<N, E?>E>5EF6>64FL 
74D4=F<< E>F<4?<74F<< F6>DG5E>>= ?<G=>EF< 6 >5M5EF65 < 6O764FL E6><< F6>DG5EF6>< G 
>>DG64NM<E <=F5D5E  > >G?LFGD5 =4D>4>6 %565D4.  
       �5447>7<G5E>4O F5?5E>>5D47=>EFL ?D>7D4<<O >5NOE=O5FEO D>D<<D>64=<5< 6OE>>>7> 
<=F5??5>F4 < 4GE>6=>EF< G5D57 <4EF5DEF6>. �D54GE<4FD<645FEO F5?O= DO4 7444=<= =4 =45?N45=<5, 
ED46=5=<5, 4><OE?<64=<5, D476<F<5 D4=F47<<. �D>7D4<<4 =4?D46?5=4 =4 F>, GF>5O G5D57 FDG4 < 
<E>GEEF6> ?D<>5M<FL 45F5= > F6>DG5EF6G. 
$54?<74F<O MF<E FD55>64=<= ?D54?>?4745F G5?>65>4 E F6>DG5E><<< E?>E>5=>EFO<<. 
�>6O5 6<7=5==O5 GE?>6<O, 6 >>F>DO5 ?>EF46?5=O E>6D5<5==O5 45F<, 6EFG?4NM<5 6 6<7=L, 
6O46<74NF E6>< FD55>64=<O: 
-5OFL <OE?OM<<<, <=<F<4F<6=O<<, E4<>EF>OF5?L=O<<, 6OD454FO64FL E6>< =>6O5 >D<7<=4?L=O5 
D5L5=<O;  
-5OFL >D<5=F<D>64==O<< =4 ?GGL<5 >>=5G=O5 D57G?LF4FO.  
$57G?LF4F MF<E G6?5>4F5?L=OE 74=OF<= =5 F>?L>> >>=>D5F=O= 3 ?>45?><, =5>5OG=O5 G>D4L5=<O, 
>>??5>F<O >4564O E <E?>?L7>64=<5< E565D=>7> >>?>D<F4, => < 3 D476<F<5 F>=>>= 
=45?N44F5?L=>EF<, ?D>EFD4=EF65==>7> 6>>5D465=<O, =5 EF4=44DF=>7> <OL?5=<O. 
     � >>=FG GG55=>7> 7>44 GG4M<5EO 4>?6=O G<5FL: 
ý �=4FL <EF>D<N D476<F<O =4D>4=OE ?D><OE?>6 E6>57> >D4O 
ý �>=<<4FL 7=4G5=<5 E6>5=  E4<>5OF=>= >G?LFGDO E6>57> =4D>44 
ý %>65DL5=EF6>64=<5 G<5=<= ?> 6O?>?=5=<N D45>F E ?D<<5=5=<5< <5E4, 5<E5D4 
ý $4EL<D5=<5 >DG7>7>D4 6 >5?4EF< FD44<F<= < >5OG456 =4D>4>6, 6<6GM<E =4 /<4?5 
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ý �D<=<<4FL GG4EF<5 6 >>??5>F<6=OE F6>DG5E><E D45>F4E, G<5=<5 D45>F4FL 6 ?4D5 < 7DG??4<<; 
ý �>=<<4FL 646=>EFL >>??5>F<6=>= D45>FO; 
ý �>=FD>?<D>64FL E6>< 45=EF6<O ?D< E>6<5EF=>= D45>F5. 
ý �F>7< 74=OF<= 5G4GF ?>46545=O 6 D>D<5 >FGUF=OE 6OEF46>>, >>=>GDE4E, D5EF<64?OE, <4EE>6OE 
<5D>?D<OF<OE.  
ý �OEF46>G=4O 45OF5?L=>EFL, 45<>=EFD4F<O >4564O  O6?O5FEO 646=O< <F>7>6O< MF4?>< 74=OF<=. 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «$57L54 ?> >>EF<» 
%>45D64=<5 ?D>7D4<<O: >6?445=<5 45FL<< >E=>6=O<< ?D<U<4<< < F5E=<>>= D57L5O. �5GG5=<5 ?> 
44==>= ?D>7D4<<5  E?>E>5EF6G5F 444?F4F<< 45F5= > ?>EF>O==> <5=ONM<<EO E>F<4?L=>-
M>>=><<G5E><< GE?>6<O<, ?>47>F>6>5 > E4<>EF>OF5?L=>= 6<7=< 6 E>6D5<5==>< <<D5, 
?D>D5EE<>=4?L=><G E4<>>?D545?5=<N 
�>7D4EF >5GG4NM<EEO: 11-17 ?5F 
�>?<G5EF65==O= E>EF46 7DG??: 10-12  G5?>65>. 
�4=OF<O ?D>E>4OF 1 D47 6 =545?N ?> 2 G. �D>7D4<<4 D4EEG<F4=4 =4 1 7>4 >5GG5=<O ?D< ?>EF>O==>< 
E>EF465 45F5=, >5N5< GG55=OE G4E>6 3 70 G. (2 G 6 =545?N). 
�D>7=>7<DG5<O5 D57G?LF4FO D45>FO >DG6>4: GG4M<5EO 4>?6=O >E6><FL >E=>6=O5 ?D<U<O < 
E?>E>5O <E?>?=5=<O =5E>>?L><E 6<4>6 D57L5O, 4 F4> 65 =4GG<FLEO 557>?4E=>, ?>?L7>64FLEO 
D56GM<< <=EFDG<5=F><. '<5FL M>>=><=> < 55D56=> >F=>E<FLEO > <4F5D<4?4< < <=EFDG<5=F4<. 
�O?>?=<FL <745?<5 (D57=4O >4DF<=4). 
�D><56GF>G=4O 4FF5EF4F<O: 6OEF46>4, >>=>GDE 
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: F6>DG5E><5 ?D>5>FO, GG4EF<5 6 >>=>GDE4E, 
?5DE>=4?L=O5 6OEF46>< 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «$57L54 ?> 45D56G» 
%>45D64=<5 ?D>7D4<<O: >5GG5=<O ?>4D>EF>>6 D57L55 ?> 45D56G =4?D46?5=> =4 6>E?<F4=<5 
EG4>65EF65==>7> 6>GE4, D476<F<5 <=F5D5E4 > =4D>4=><G F6>DG5EF6G, E>ED4=5=<5 57> FD44<F<=. 
�>7D4EF >5GG4NM<EEO: 11-17 ?5F �>?<G5EF65==O= E>EF46 7DG??: 10-12  G5?>65>. �4=OF<O ?D>E>4OF 3 
D474 6 =545?N ?> 2 G4E4. 
�D>7D4<<4 D4EEG<F4=4 =4 1 7>4 >5GG5=<O ?D< ?>EF>O==>< E>EF465 45F5=  >5N5< GG55=OE G4E>6 3 
210 G. (6G. 6 =545?N).  
?>E?5 >>>=G4=<O >GDE4, >5GG4NM<5EO 4>?6=O 7=4FL: 
- > =4D>4=OE ?D><OE?4E, D4E?D>EFD4=5==OE =4 F5DD<F>D<< $>EE<<; >5 <EF>D<< 6>7=<>=>65=<O < 
D476<F<O <5EF=>7> =4D>4=>7> ?D><OE?4 EG4>65EF65==>= D57L5O ?> 45D56G;  
- E4D4>F5D=O5 >E>55==>EF< <5EF=>= D57L5O ?> 45D56G; 
- >  =4D>4=OE ?D><OE?4E /<4?>-�5=5F>>7> >>DG74 
- ?>?=O= ?D>F5EE <77>F>6?5=<O <745?<=; 
- ?D46<?4 557>?4E=>= D45>FO 6 <4EF5DE>>=; 
-<=EFDG<5=FO < >5>DG4>64=<5, ?D<<5=O5<O5 6 D45>F5 E 45D56>< 
-F5E=<>G 6O?>?=5=<O, >D>D<?5=<O < 74M<FO F6>DG5E><E ?D>5>F>6. 
>5GG4NM<5EO 4>?6=O G<5FL: 
- 45?4FL 74D<E>6>< E >5D47F>6 =4D>4=>7> <E>GEEF64; 
- D47D454FO64FL E4<>EF>OF5?L=> >><?>7<F<< D57L5O ?> 45D56G; 
- 6?445FL >5>DG4>64=<5< < <=EFDG<5=F4D<5<; 
- 6OF4G<64FL D47?<G=O5 <745?<O =4 F>>4D=>< EF4=>5 ?> 45D56G; 
- 6?445FL ?D<5<4<< ??>E>>6O5<G4F>= D57L5O (75><5FD<G5E>4O, E>>5G4F4O, >>=FGD=4O), ?D>D57=>= 
(?D>?<?L=>=), E>G?L?FGD=>= (>5N5<=>=) D57L5O (?>6><), >>6L<, E>G?L?FGDO), D45>F4FL E 
?D<>?44=O< <4F5D<4?><; 
- D<E>64FL E =4FGDO < ?> ?4<OF<; 
- 6O?>?=OFL <F>7>6O= F6>DG5E><= ?D>5>F. 
�D><56GF>G=4O 4FF5EF4F<O: 6OEF46>4, >>=>GDE 
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: F6>DG5E><5 ?D>5>FO, GG4EF<5 6 >>=>GDE4E, 
?5DE>=4?L=O5 6OEF46><. 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 L>>?L=O= F54FD «�45FM=>>» 
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�4==4O ?D>7D4<<4 >DG6>4 L>>?L=>7> F54FD4 «�45FM=>>» D4EEG<F4=4 =4 45F5= 6 6>7D4EF5 13-15 ?5F, 
?>MF><G ?D< D4E?D545?5=<< 7444=<= GG<FO645FEO 6>7D4EF 45F5=, <E ?>47>F>6?5==>EFL, 
EGM5EF6GNM<5 =46O>< < G<5=<O. 
      $45>G4O ?D>7D4<<4 D4EEG<F4=4 =4 70 G4E>6 6 7>4, <7 D4EGUF4 2 G. 6 =545?N, ?D>4>?6<F5?L=>EFL 
74=OF<= E>EF46?O5F 40 <<=GF E ?5D5DO6>< 10 <<=GF.  
%D>> D54?<74F<< ?D>7D4<<O: 1 7>4. 
 �4=<< <7 6<4>6 45FE>>= 45OF5?L=>EF< L>>?L=>7> F54FD4 «�45FM=>>», L<D>>> <E?>?L7G5<>= 6 
?D>F5EE5 6>E?<F4=<O < 6E5EF>D>==57> D476<F<O 45F5= O6?O5FEO F54FD4?<7>64==4O, >>F>D4O 6 ?>?=>= 
<5D5 ?>76>?O5F D54?<7>6O64FL ?D<=F<?O ?D<D>4>E>>5D47=>EF< < >G?LFGD>E>>5D47=>EF< 
6>E?<F4=<O. �=4?<7 E>6D5<5==>= ?D4>F<>< L>>?L=>7> >5D47>64=<O ?>76>?O5F E45?4FL 6O6>4 > F><, 
GF> 6E5 5>?LL5 6=<<4=<O G45?O5FEO ?5447>74<< D4E>DOF<N ?>F5=F<4?L=OE 6>7<>6=>EF5= D555=>4, 
57> E>DOF>7> F4?4=F4 ED54EF64<< F54FD4?L=>7> F6>DG5EF64. �D>7D4<<4 >D<5=F<DG5F ?5447>74 =4 
E>744=<5 GE?>6<= 4?O 4>F<6<74F<< G D555=>4 MEF5F<G5E><E GEF4=>6>> >4> =5>FN5<?5<>= 
E4D4>F5D<EF<>< 57> <<D>6>E?D<OF<O < ?>6545=<O. %>45D64=<5 ?D>7D4<<O ?>76>?O5F 
EF<<G?<D>64FL E?>E>5=>EFL 45F5= > >5D47=><G < E6>5>4=><G 6>E?D<OF<N >>DG64NM57> <<D4 
(?N45=, >G?LFGD=OE F5==>EF5=, ?D<D>4O), >>F>D>5, D476<64OEL ?4D4??5?L=> E FD44<F<>==O< 
D4F<>=4?L=O< 6>E?D<OF<5<, D4EL<DO5F < >5>74M45F 57>.  
�>FG4?L=>EFL D47D45>F>< < E>744=<O 44==>= ?D>7D4<<O >5GE?>6?5=4 F5<, GF> >=4 ?>76>?O5F 
GEFD4=<FL ?D>F<6>D5G<O <564G GE?>6<O<< D45>FO 6 
>?4EE=>-GD>G=>= E<EF5<5 ?D5?>4464=<O < ?>FD55=>EFO<< GG4M<EEO D54?<7>64FL E6>= F6>DG5E><= 
?>F5=F<4?. 
 
 
� FGD<EFE>>->D45654G5E>>= =4?D46?5==>EF< D54?<7G5FEO 1 4>?>?=<F5?L=4O >5M5D476<64NM4O 
?D>7D4<<4:  
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�D45654»  
�<4 45OF5?L=>EF<: >D456545=<5 4?O 45F5= 6 6>7D4EF5 11 -18 ?5F. �D>7D4<<4 D4EEG<F4=4 =4 1 7>4 
>5GG5=<O ?D< ?>EF>O==>< E>EF465 45F5= >5M<= >5N5< GG55=OE G4E>6 370  G4E>66 7>4 (2 G. 6 
=545?N). �4?>?=O5<>EFL GG55=OE 7DG?? 3 4> 15 G5?>65>.  
� >>=F5 1 7>44 >5GG5=<O GG4M<5EO 4>?6=O 7=4FL ?D46<?4 D45>FO ?> E5>DG < E<EF5<4F<74F<< 
=4>>??5==>7> <4F5D<4?4, ?D46<?4 ?D< D45>F5 E 4>>G<5=F4<< < D>F>7D4D<O<<, >5OG4< < FD44<F<<,  
<7DO,  7=4G5=<5   D4E?D>EFD4=5==OE <<5= < D4<<?<= =5=F56, F5D<<=O «M>E?>7<F<O», «M>E?>=4F», 
«<=F5D6LN», «>E=>6=>= < 6E?><>74F5?L=O= D>=4 <G75O», F5D<<=>?>7<N D>4EF64. %4<>EF>OF5?L=> 
45?4FL 74?<E< 6 F5FD44L ?>EFG??5=<=, ?<E4FL EF4FL< 4?O L>>?L=>= 7475FO, E>EF46?OFL 6>?D>E=<><, 
5D4FL <=F5D6LN, >D>D<?OFL E<5==O5 EF5=4O, E>EF46?OFL >?<EL M>E?>=4F>6 <G75O. 
�D><56GF>G=4O 4FF5EF4F<O: F5EF<D>64=<5, 6<>F>D<=4, 74G5F, ?D>6545=<5 M>E>GDE<< 
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: F6>DG5E><5 ?D>5>FO, GG4EF<5 6 >>=>GDE4E, 
?><E>>64O D45>F4. 
 
� F5E=<G5E>>= =4?D46?5==>EF< D54?<7G5FEO 7 4>?>?=<F5?L=OE >5M5D476<64NM<E ?D>7D4<<: 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�57>>>=EFDG<D>64=<5»  
�<4 45OF5?L=>EF<: �4EF>OM<= >GDE ?D54?4745F <E?>?L7>64=<5 >5D47>64F5?L=OE >>=EFDG>F>D>6 
LEGO, =45>D>6 «&5E=>?>7<O 4?O 45F5= TPS-3742», 4?O 45F5= 6 6>7D4EF5 7-8 ?5F. �D>7D4<<4 
D4EEG<F4=4 =4 1 7>4 >5GG5=<O ?D< ?>EF>O==>< E>EF465 45F5= >5N5< GG55=OE G4E>6 3 33 G4E4 (1 G. 6 
=545?N). �4?>?=O5<>EFL GG55=OE 7DG?? 3 4> 13 G5?>65>. � >>=F5 >5GG5=<O GG4M<5EO 4>?6=O 
7=4FL: ?D46<?4 557>?4E=>= D45>FO; >E=>6=O5 >><?>=5=FO >>=EFDG>F>D>6. 
�>=EFDG>F<6=O5 >E>55==>EF< D47?<G=OE <>45?5=, E>>DG65=<= < <5E4=<7<>6;  
6<4O ?>46<6=OE < =5?>46<6=OE E>54<=5=<= 6 >>=EFDG>F>D5 �57>; E4<>EF>OF5?L=> D5L4FL 
F5E=<G5E><5 7444G< 6 ?D>F5EE5 >>=EFDG<D>64=<O D>5>F>6 (??4=<D>64=<5 ?D54EF>OM<E 45=EF6<=, 
E4<>>>=FD>?L, ?D<<5=OFL ?>?GG5==O5 7=4=<O; ?D<5<O < >?OF >>=EFDG<D>64=<O E <E?>?L7>64=<5< 
E?5F<4?L=OE M?5<5=F>6, < 4DG7<E >5N5>F>6 < F.4.); E>74464FL  <>45?<  ?D<  ?><>M< E?5F<4?L=OE 
M?5<5=F>6 ?> D47D45>F4==>= EE5<5, ?> E>5EF65==><G 74<OE?G. 
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'<5FL: D45>F4FL E ?<F5D4FGD>=, E 6GD=4?4<<, E >4F4?>74<<, 6 <=F5D=5F5 (<7GG4FL < >5D454FO64FL 
<=D>D<4F<N); E4<>EF>OF5?L=> D5L4FL F5E=<G5E><5 7444G< 6 ?D>F5EE5 >>=EFDG<D>64=<O D>5>F>6 
(??4=<D>64=<5 ?D54EF>OM<E 45=EF6<=, E4<>>>=FD>?L, ?D<<5=OFL ?>?GG5==O5 7=4=<O, ?D<5<O < 
>?OF >>=EFDG<D>64=<O E <E?>?L7>64=<5< E?5F<4?L=OE M?5<5=F>6 < F.4.). 
�D><56GF>G=4O 4FF5EF4F<O: >?D>E, F5EF, E4<>EF>OF5?L=4O D45>F4  
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: F6>DG5E><= ?D>5>F  
  
 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�57>D>5>F>>>=EFDG<D>64=<5»  
�<4 45OF5?L=>EF<: >5GG5=<5 D45>F5 E >><?LNF5D=O<< F5E=>?>7<O<< 4?O 45F5= 6 6>7D4EF5 8 -11 ?5F. 
�D>7D4<<4 D4EEG<F4=4 =4 3 7>44 >5GG5=<O ?D< ?>EF>O==>< E>EF465 45F5=. 
�5N5< GG55=OE G4E>6 3140 G4E>6 (=4?>?=O5<>EFL 7DG??-12G5?.)  
�4EF>OM<= >GDE ?D54?4745F <E?>?L7>64=<5 >5D47>64F5?L=OE >>=EFDG>F>D>6 LEGO, =45>D>6 
«&5E=>?>7<O 4?O 45F5= TPS-3742», >>=EFDG>F>D>6 ?> D>5>F5E=<>5  PRORobot 
� >>=F5 >5GG5=<O GG4M<5EO 4>?6=O 7=4FL: ?D46<?4 557>?4E=>= D45>FO; >E=>6=O5 >><?>=5=FO 
>>=EFDG>F>D>6 ����; >>=EFDG>F<6=O5 >E>55==>EF< D47?<G=OE <>45?5=, E>>DG65=<= < 
<5E4=<7<>6; 6<4O ?>46<6=OE < =5?>46<6=OE E>54<=5=<= 6 >>=EFDG>F>D5; E4<>EF>OF5?L=> D5L4FL 
F5E=<G5E><5 7444G< 6 ?D>F5EE5 >>=EFDG<D>64=<O D>5>F>6 (??4=<D>64=<5 ?D54EF>OM<E 45=EF6<=, 
E4<>>>=FD>?L, ?D<<5=OFL ?>?GG5==O5 7=4=<O; ?D<5<O < >?OF >>=EFDG<D>64=<O E <E?>?L7>64=<5< 
E?5F<4?L=OE M?5<5=F>6, < 4DG7<E >5N5>F>6 < F.4.); E>74464FL  <>45?<  ?D<  ?><>M< E?5F<4?L=OE 
M?5<5=F>6 ?> D47D45>F4==>= EE5<5, ?> E>5EF65==><G 74<OE?G. 
'<5FL: D45>F4FL E ?<F5D4FGD>=, E 6GD=4?4<<, E >4F4?>74<<, 6 <=F5D=5F5 (<7GG4FL < >5D454FO64FL 
<=D>D<4F<N); E4<>EF>OF5?L=> D5L4FL F5E=<G5E><5 7444G< 6 ?D>F5EE5 >>=EFDG<D>64=<O D>5>F>6 
(??4=<D>64=<5 ?D54EF>OM<E 45=EF6<=, E4<>>>=FD>?L, ?D<<5=OFL ?>?GG5==O5 7=4=<O, ?D<5<O < 
>?OF >>=EFDG<D>64=<O E <E?>?L7>64=<5< E?5F<4?L=OE M?5<5=F>6 < F.4.). 
�D><56GF>G=4O 4FF5EF4F<O: >?D>E, F5EF, E4<>EF>OF5?L=4O D45>F4  
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: F6>DG5E><= ?D>5>F  
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�E=>6O D>5>F>F5E=<><» 
%>45D64=<5 < EFDG>FGD4 >GDE4 «$>5>F>F5E=<>4» =4?D46?5=O =4 D>D<<D>64=<5 GEF>=G<6OE 
?D54EF46?5=<= > D>5>F>F5E=<G5E><E GEFD>=EF64E >4> 54<=>< <745?<< >?D545?5==>7> 
DG=>F<>=4?L=>7> =47=4G5=<O < E >?D545?5==O<< F5E=<G5E><<< E4D4>F5D<EF<>4<<. %>45D64=<5 < 
EFDG>FGD4 >GDE4 «$>5>F>F5E=<>4» =4?D46?5=O =4 D>D<<D>64=<5 GEF>=G<6OE ?D54EF46?5=<= > 
D>5>F>F5E=<G5E><E GEFD>=EF64E >4> 54<=>< <745?<< >?D545?5==>7> DG=>F<>=4?L=>7> =47=4G5=<O 
< E >?D545?5==O<< F5E=<G5E><<< E4D4>F5D<EF<>4<<. 
�D><56GF>G=4O 4FF5EF4F<O: 74GUF, E>55E54>64=<5, GEF=O= >?D>E GG4M<EEO (6>?D>E->F65F); 
?<EL<5==O= >?D>E; E4<>EF>OF5?L=4O D45>F4; F5EF<D>64=<5.  
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: F6>DG5E><= ?D>5>F, >>=>GDEO; 6OEF46><; 
�4==4O ?D>7D4<<4 ?D54=47=4G5=4 4?O >5GG4NM<EEO 6>7D4EF5 12-16 ?5F, >>F>DO5 6?5D6O5 5G4GF 
7=4>><<FLEO E LEGO 3D>5>F>F5E=>?>7<O<< < ??4FD>D<>= �D4G<=>. �4?>?=O5<>EFL 7DG??O 4> 
10G5?. 
�4=OF<O ?D>6>4OFEO 6 >45<=5F5 D>5>F>F5E=<>< 6 D47 6 =545?N ?> 3 G4E4. &4><< >5D47><, ?D>7D4<<4 
D4EEG<F4=4 =4 630 G4E>6.  
%D>>< D54?<74F<< 44==>= ?D>7D4<<O 3 1 7>4.  
�E>55==>EF< ?D>7D4<<O: D54?<74F<O ?D>7D4<<O >EGM5EF6?O5FEO E <E?>?L7>64=<5< <5F>4<G5E><E 
?>E>5<=, E?5F<4?L=> D47D45>F4==OE D<D<>= "LEGO" 4?O ?D5?>4464=<O F5E=<G5E>>7> 
>>=EFDG<D>64=<O =4 >E=>65 E6><E >>=EFDG>F>D>6. �4EF>OM4O ?D>7D4<<4 ?D54?4745F <E?>?L7>64=<5 
>5D47>64F5?L=OE >>=EFDG>F>D>6 Lego Mindstorms NXT < EV3 >4> <=EFDG<5=F4 4?O >5GG5=<O 
L>>?L=<>>6 >>=EFDG<D>64=<N, <>45?<D>64=<N < >><?LNF5D=><G G?D46?5=<N. �D>EF>F4 6 
?>EFD>5=<< <>45?< 6 E>G5F4=<< E 5>?LL<<< >>=EFDG>F<6=O<< 6>7<>6=>EFO<< >>=EFDG>F>D4 
?>76>?ONF 45FO< 6 >>=F5 74=OF<O G6<45FL E45?4==GN E6><<< DG>4<< <>45?L, >>F>D4O 6O?>?=O5F 
?>EF46?5==GN <<< 65 E4<<<< 7444GG. �D< ?>EFD>5=<< <>45?< 74FD47<645FEO <=>65EF6> ?D>5?5< 
<7 D47=OE >5?4EF5= 7=4=<O 3 >F F5>D<< <5E4=<>< 4> ?E<E>?>7<<.  
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�D>7D4<<4 ?D54?>?4745F <E?>?L7>64=<5 >><?LNF5D>6 E>6<5EF=> E >>=EFDG>F>D4<<. �46=> 
>F<5F<FL, GF> >><?LNF5D <E?>?L7G5FEO >4> ED54EF6> G?D46?5=<O <>45?LN; 57> <E?>?L7>64=<5 
=4?D46?5=> =4 E>EF46?5=<5 G?D46?ONM<E 4?7>D<F<>6 4?O E>5D4==OE <>45?5=. 'G4M<5EO ?>?GG4NF 
?D54EF46?5=<5 >5 >E>55==>EFOE E>EF46?5=<O ?D>7D4<< G?D46?5=<O, 46F><4F<74F<< <5E4=<7<>6, 
<>45?<D>64=<< D45>FO E<EF5<. �5F>4<G5E><5 >E>55==>EF< D54?<74F<< ?D>7D4<<O ?D54?>?474NF 
E>G5F4=<5 6>7<>6=>EF< D476<F<O <=4<6<4G4?L=OE F6>DG5E><E E?>E>5=>EF5= < D>D<<D>64=<5 
G<5=<= 674<<>45=EF6>64FL 6 >>??5>F<65, D45>F4FL 6 7DG??5 
�5GG4NM<5EO ?>?GG4F 6>7<>6=>EFL =4GG<FLEO:  
"E>5<D4FL <>45?< D>5>F>6;  
"E>EF46?OFL 4?7>D<F<<G5E><5 5?>>-EE5<O 4?O D5L5=<O 7444G;  
"<E?>?L7>64FL 44FG<>< < 46<74F5?< 6 ?D>EFOE 7444G4E;  
"?D>7D4<<<D>64FL 6 ED545 Lego Mindstorms Education NXT < EV3;  
"<E?>?L7>64FL  44FG<><  <  46<74F5?<  6  E?>6=OE  7444G4E,  
 ?D54GE<4FD<64NM<E <=>7>64D<4=F=>EFL D5L5=<O.  
$>D<O ?>46545=<O <F>7>6 D45>FO  
- F5>GM<= >>=FD>?L GD>6=O GE6>5=<O <4F5D<4?4 >EGM5EF6?O5FEO ?> D57G?LF4F4<  
       6O?>?=5=<O >5GG4NM<EEO ?D4>F<G5E><E 7444=<=;  
- <F>7>6O= >>=FD>?L D54?<7G5FEO 6 D>D<5 E>D56=>64=<= ?> D>5>F>F5E=<>5; 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «Cuboro» 
�>?>?=<F5?L=4O >5M5>5D47>64F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «Cuboro» <<55F 
F5E=<G5E>GN =4?D46?5==>EFL EF4DF>6O= GD>65=L E?>6=>EF< < ?D54=47=4G5=4 4?O ?D<6?5G5=<O 
>5GG4NM<EEO > F5E=<G5E>><G F6>DG5EF6G. 
$54?<74F<O ?D>7D4<<O >D<5=F<D>64=4 =4 D>D<<D>64=<5 < D476<F<5 F6>DG5E><E 
E?>E>5=>EF5= 45F5= < G4>6?5F6>D5=<5 <E <=4<6<4G4?L=OE ?>FD55=>EF5= 6 <=F5??5>FG4?L=><, 
=D46EF65==>< < D<7<G5E>>< E>65DL5=EF6>64=<< 74 D4<>4<< >E=>6=>7> >5D47>64=<O. 
�>?>?=<F5?L=4O >5M5>5D47>64F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�<D Cuboro» 
?D54=47=4G5=4 4?O >5GG4NM<EEO 10-13 ?5F E GG5F>< 6>7D4EF=OE <=4<6<4G4?L=OE >E>55==>EF5= 
D555=>4. �4=OF<O ?D>6>4OFEO 6 7DG??4E <7 15 G5?>65>. �E=>6=>= >GDE ?D>7D4<<O D4EEG<F4= =4 1 
7>4 >5GG5=<O 2 G4E4 6 =545?N (6E57> 72G.) 
%>7?4E=> E>6D5<5==O< GE?>6<O< =5>5E>4<<4 D47D45>F>4 =>6OE >5D47>64F5?L=OE <>45?5=, 6 
>E=>6G >>F>DOE 4>?6=O 6E>4<FL >5D47>64F5?L=O5 F5E=>?>7<<, E>>F65FEF6GNM<5 ?D<=F<?4<: 
- D476<64NM57> >5D47>64=<O; 
- =4GG=>= >5>E=>64==>EF< < ?D4>F<G5E>>= ?D<<5=<<>EF<; 
- E>>F65FEF6<O >D<F5D<O< ?>?=>FO, =5>5E>4<<>EF< < 4>EF4F>G=>EF<; 
- 54<=EF64 6>E?<F4F5?L=OE, D476<64NM<E < >5GG4NM<E F5?5= < 7444G ?D>F5EE4 >5D47>64=<O 
>5GG4NM<EEO <?44L57> L>>?L=>7> 6>7D4EF4; 
- <=F57D4F<< >5D47>64F5?L=OE >5?4EF5=; 
- D5L5=<O ?D>7D4<<=OE >5D47>64F5?L=OE 7444G 6 E>6<5EF=>= 45OF5?L=>EF< < E4<>EF>OF5?L=>= 
45OF5?L=>EF< ?5447>74 < >5GG4NM57>EO. 
�4=<< <7 64D<4=F>6 D45>FO ?> 44==><G =4?D46?5=<N EF4?< 74=OF<O ?> >5D47>64F5?L=>= E<EF5<5 
Cuboro. % ?><>MLN MF>7> >>=EFDG>F>D D476<64NFEO ?D>EFD4=EF65==>5 6>>5D465=<5, ?>7<G5E>>5 
<OL?5=<5, <5?>4O <>F>D<>4, >>=F5=FD4F<O 6=<<4=<O, F5D?5=<5 ?D< 6O?>?=5=<< 7444=<O < 
F6>DG5E>>5 <OL?5=<5. �>=EFDG>F>D «Cuboro» ?D54EF46?O5F E>5>= =45>D >4<=4>>6OE ?> D47<5DG (5 
=4 5 =4 5 E<) 45D56O==OE >G5<>>6, <7 >>F>DOE <>6=> ?>EFD><FL D47=>>5D47=O5 ?45<D<=FO 4?O 
L4D<>4. �G5<>< E 12 D47?<G=O<< DG=>F<O<< <>6=> <E?>?L7>64FL 6 ?N5OE >><5<=4F<OE. � 
>G5<>4E ?D>D574=O >F65DEF<O 3 ?DO<O5 ?<5> <7>7=GFO5 65?>54 < FG==5?<. �GF5< E>EF46?5=<O 4DG7 
E 4DG7><, 4 F4>65 >4=>7> =4 4DG7>= <>6=> ?>?GG<FL >>=EFDG>F<< 4>D>65>-?45<D<=F>6 D47?<G=OE 
D>D<. �>EFD>5=<5 ?45<D<=F>6 E?>E>5EF6G5F D476<F<N =46O>>6 >><5<=4F<< < 
M>E?5D<<5=F<D>64=<O. �?47>44DO E6><< ?D4>F<G5E>< 55E>>=5G=O< 6>7<>6=>EFO< 4?O 
>><5<=<D>64=<O «Cuboro» ?>76>?O5F D5L4FL =5>7D4=<G5==>5 >>?<G5EF6> 7444G D47=>= EF5?5=< 
E?>6=>EF<. 
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�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�5?<>E» 
�<4 45OF5?L=>EF<: �EE?54>64=<5 6>7<GM5=<= <47=<F=>7> ?>?O =4 /<4?5 < ?D>O6?5=<= 
>>E<<G5E>>= ?>7>4O. 
�E>55==>EFL ?D>7D4<<O - 74=OF<O E GG4M<<<EO 14-18 ?5F 6 1-= 7>4 >5GG5=<O.  
�?F<<4?L=O= >>?<G5EF65==O= E>EF46 7DG??O 3 18 G5?>65>.  
�E=>6=>= >GDE ?D>7D4<<O D4EEG<F4= =4 2 7>44 >5GG5=<O 2 G4E4 6 =545?N (6E57> 72G.) 
� ?5D6O= 7>4 GG4M<<EO ?D54?4745FEO 6O5>D F5< 4?O ?>47>F>6>< D5D5D4F<6=>= D45>FO. �4 6F>D>= 
7>4 D55OF4< ?D54?4745FEO E6>5>4=O= 6O5>D F5< 4?O <EE?54>64=<O E 4>F5=F>< =4 <=4<6<4G4?L=GN, 
E4<>EF>OF5?L=GN D45>FG ?D< ?>47>F>6>5 <E 6OEFG??5=<= =4 74=OF<OE, <4EE>6OE <5D>?D<OF<OE, 
6<>F>D<=4E < >?<<?<444E, 4 F4>65 4>F<6=>5 GG4EF<5 6 E>744=<< E5>D=<>4 D5D5D4F<6=OE D45>F 
GG4M<EEO.�4 6F>D>= 7>4 D55OF4< ?D54?4745FEO E6>5>4=O= 6O5>D F5< 4?O <EE?54>64=<O E 4>F5=F>< 
=4 <=4<6<4G4?L=GN, E4<>EF>OF5?L=GN D45>FG ?D< ?>47>F>6>5 <E 6OEFG??5=<= =4 74=OF<OE, 
<4EE>6OE <5D>?D<OF<OE, 6<>F>D<=4E < >?<<?<444E, 4 F4>65 4>F<6=>5 GG4EF<5 6 E>744=<< E5>D=<>4 
D5D5D4F<6=OE D45>F GG4M<EEO. 
�> >>>=G4=<N ?5D6>7> 7>44 >5GG5=<O 45F< =4GG4FEO D45>F4FL E GG55=O<< ?>E>5<O<<, 
M=F<>?>?54<O<< < F.?.;=4GG4FLEO ?>?L7>64FLEO E5FLN �=F5D=5F >4> <EF>G=<>>< 7=4=<=; >464O= 
D555=>> =4GG<FEO E>FDG4=<G4FL 6 45FE>>< >>??5>F<65; 45F< =4GG4FEO =4E>4<FL <=D>D<4F<N ?> 
E>?=5G=>-75<=>= D<7<>5, >>E<>=46F<>5, 5G4GF 7=4FL F5>GM55 E>EF>O=<5 ?D>5>F>6 =4 
�564G=4D>4=>= >>E<<G5E>>= EF4=F<<, ?> D47D45>F>5 D44<>?N5<F5?LE><E E?GF=<>>6, ?> 
=4G4?L=O< =46O>4< >>E<<G5E>>= E6O7<; >5GG4NM<5EO 5G4GF <<5FL ?D54EF46?5=<5 > EFD>5=<< 
%>?=F4, 5G4GF 7=4FL >E=>6=O5 D4>FO ?> E>?=5G=>-75<=>= D<7<>5, > <47=<F=OE 5GDOE < ?> 
MDD5>F4< >>E<<G5E>>= ?>7>4O, >464O= GG4M<=EO E<>65F >5NOE=OFL, GF> E>5>= ?D54EF46?O5F 
�5<?O 6 >>E<>E5, G5< >F?<G45FEO >F 4DG7<E ??4=5F %>?=5G=>= E<EF5<O < >4> E6O74=4 6<7=L =4 
�5<?5 E %>?=F5<;6O?>?=OF =5E>>?L>> E4<>EF>OF5?L=OE D5D5D4F<6=OE <?<  <EE?54>64F5?LE><E 
D45>F ?> E>?=5G=>-75<=>= D<7<>5 < >>E<>=46F<>5. �> >>>=G4=<N 6F>D>7> 7>44 >5GG5=<O G 
>5GG4NM<EEO 5G45F ED>D<<D>64=> ?>?=>F5==>5 ?D54EF46?5=<5 > E?>6=>EF< >>DG64NM57> <<D4, 
D>?< >>E<>=46F<>< 6 D476<F<< =4L5= F<6<?<74F<<, >E=>6=OE 4>EF<65=<OE E>?=5G=>-75<=>= 
D<7<><,  >5GG4NM<5EO =4GG4FEO >5D4M4FLEO E> E?5F<4?L=O<< ?D>7D4<<4<< =4 >><?LNF5D5 ?D< 
?D>6545=<< F<DD>6OE 6<4>6 E6O7<, E?54<FL 74 E>EF>O=<5< >>>?>75<=>7> >>E<<G5E>>7> 
?D>EFD4=EF64,  ?>?>65=<5< ��%, <<>D>E?GF=<>>6, <  ?>?GG4FL =5>5E>4<<GN <=D>D<4F<N <7 
�=F5D=5F4; 5G4GF 7=4FL >E=>6=O5 ?D474=<>< 3 <564G=4D>4=4O >>E<<G5E>4O =545?O 04-10 >>FO5DO, < 
12 4?D5?O 3 45=L >>E<>=46F<><; 5G4GF 7=4FL EFD>5=<5 %>?=F4, >E=>6O E>?=5G=>-75<=>= D<7<><,  
MDD5>FO >>E<<G5E>>= ?>7>4O; 6O?>?=OF =5E>>?L>> E4<>EF>OF5?L=OE  <EE?54>64F5?LE><E  D45>F; 
6OEFG?OF =4 >>=D5D5=F<OE; 6O55DGF =4?D46?5=<5 E6>57> 44?L=5=L57> >5D47>64=<O. 
$>D<O < <5F>4O, >55E?5G<64NM<5 D54?<74F<N >5D47>64F5?L=>= ?D>7D4<<O FD44<F<>==O5 (>5M<5 
4?O 6E5E 6>7D4EF>6): 
- 55E54O, 4<E>GEE<<,  
- =4EF>?L=O5 F5<4F<G5E><5 <7DO, 6<>F>D<=O, <7DO-?GF5L5EF6<O, >>??5>F<6=O5 <7DO; 
- <77>F>6?5=<5 ?D>EF5=L<E ?D<5>D>6 < ?>E>5<= 4?O <47=<F=OE <7<5D5=<=; 
- =45?N45=<O 64D<4F<= <47=<F=>7> ?>?O ?> <47=<F><5FDG 6 %5OE5 < 4DG7<E F>G>4E /<4?4;  
-<E?>?L7>64=<5 =4 74=OF<OE =47?O4=OE ?>E>5<= (6<45>D<?L<O, 4<4D<?L<O, E?4=4-D<?L<O, 
??4>4FO, D>F>E=<<><, >4DFO); 
- ?D>6545=<5  F5<4F<G5E><E 74=OF<= ?> E>?=5G=>-75<=>= D<7<>5; 
- GG4EF<5 GG4M<EEO 6 >>=D5D5=F<OE. 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�5E5?O= <>=<F>D» 
�<4 45OF5?L=>EF<: >5GG5=<5 M?5<5=F4D=>= >><?LNF5D=>= 7D4<>F=>EF< 6 6<45 <=D>D<4F<>==>7> 
<EF>G=<>4 E?>6=>= EFDG>FGDO (��%%) 4?O 45F5= 6 6>7D4EF5 7 -10 ?5F. �D>7D4<<4 D4EEG<F4=4 =4 1 
7>4 >5GG5=<O ?D< ?>EF>O==>< E>EF465 45F5= >5N5< GG55=OE G4E>6 3105 G4E>6 (3 G. 6 =545?N), ?> 1 
G4EG =4 7DG??G. 
 �4?>?=O5<>EFL GG55=OE 7DG?? 3 12 G5?>65>. (3 6>7D4EF=O5 7DG??O) 
� >>=F5 >5GG5=<O GG4M<5EO 4>?6=O 7=4FL: > D>?< >><?LNF5D4 6 6<7=< G5?>65>4; >5 M6>?NF<< 
6OG<E?<F5?L=>= F5E=<><; GF> ?D54EF46?O5F E>5>= E>6D5<5==O= >><?LNF5D, >4><5 ?D>F5EEO 
?D><EF5>4NF 6=GFD< 57>, <7 G57> E>EF><F >><?LNF5D < >4><5 6=5L=<5 GEFD>=EF64 > =5<G <>6=> 
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?>4>?NG<FL; F5E=<>G 557>?4E=>EF<, 7<7<5=G, >D74=<74F<N D45>G57> ?D>EFD4=EF64 (>><?LNF5D=O= 
EF>? < ?4DF4) 
G<5FL: D45>F4FL E <OLLN; D45>F4FL =4 >?46<4FGD5; =45<D4FL E<<6>?O; 74?GE> ?D<?>65=<=; 
<<5=>64FL  D4=?O, E>74464FL <=D>D<4F<>==O5 >5N5>FO (D<EG=>>, F5>EF, 76G>, ?D>EF5=L4O 
7<?5DEFDG>FGD4); D<>E<D>64FL (74?<E<) <=D>D<4F<>==O5 >5N5>FO, >>=EFDG<D>64FL 
<=D>D<4F<>==O5 (6<DFG4?L=O5 < <4F5D<4?L=O5) >5N5>FO, <E?>?L7>64FL 6 E6><E =4?<E4==OE < 
?D><7=5E5==OE F5>EF4E <OE?< 4DG7<E ?N45=, D45>F4FL 6 ?D>7D4<<4E Word < Paint. 
�D><56GF>G=4O 4FF5EF4F<O: 74GUF, E>55E54>64=<5, GEF=O= >?D>E GG4M<EEO (6>?D>E->F65F); 
?<EL<5==O= >?D>E; E4<>EF>OF5?L=4O D45>F4; F5EF<D>64=<5.  
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: F6>DG5E><= ?D>5>F, >>=>GDEO; 6OEF46><; 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «3D <>45?<D>64=<5»  
$45>G4O ?D>7D4<<4 4>?>?=<F5?L=>7> >5D47>64=<O F5E=<G5E>>= =4?D46?5==>EF< «�E=>6O 3D-
<>45?<D>64=<O» ?D54EF46?O5F E>5>= =4G4?L=O= >GDE ?> >><?LNF5D=>= 3D-7D4D<>5, 44NM<= 
?D54EF46?5=<5 > 547>6OE ?>=OF<OE 3D-<>45?<D>64=<O 6 E?5F<4?<7<D>64==>= 4?O MF<E F5?5= 
?D>7D4<<5. � >4G5EF65 ?D>7D4<<=>= ED54O 6O5D4=> ?D>7D4<<=>5 >55E?5G5=<5 ArtCam (E6>5>4=> 
D4E?D>EFD4=O5<4O ED544 4?O E>744=<O FD5E<5D=>= <>45?<). 
$45>F4 E 3D 7D4D<>>= 3 >4=> <7 E4<OE ?>?G?OD=OE =4?D46?5=<= <E?>?L7>64=<O ?5DE>=4?L=>7> 
>><?LNF5D4, ?D<G5< 74=<<4NFEO MF>= D45>F>= =5, F>?L>> ?D>D5EE<>=4?L=O5 EG4>6=<><, => <  
4<74==5DO. 
�D>7D4<<4 D4EEG<F4=4 =4 1 7>4 >5GG5=<O ?D< ?>EF>O==>< E>EF465 45F5= >5N5< GG55=OE G4E>6 3140 
G4E>6 (4 G. 6 =545?N), ?> 2 G4EG =4 7DG??G. 
�>7D4EF >5GG4NM<EEO:12-14?5F 
 
 
� D<7>G?LFGD=>-E?>DF<6=>= =4?D46?5==>EF< D54?<7G5FEO 6 4>?>?=<F5?L=OE >5M5D476<64NM<E 
?D>7D4<<: 
 
�>?>?=<F5?L=4O >5M5D476<64NM<5 ?D>7D4<<O «�4F<>=4?L=O5 6<4O E?>DF4» 
       �>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�4F<>=4?L=O5 6<4O E?>DF4» ?D54=47=4G5=4 
4?O 45F5= 6 6>7D4EF5 >F 10 4> 18 ?5F. $>D<>= ?D>6545=<O 74=OF<=, E>7?4E=> �D>7D4<<5, O6?ONFEO 
GG55=>-FD5=<D>6>G=O5 74=OF<O ?D>4>?6<F5?L=>EFLN 1 G4E E ?5D5DO6>< 10-15 <<=-3 D474 6 =545?N. 
(<F>7> 175 G. 6 7>4). %D>>< D54?<74F<< ?D>7D4<<O 3 3 7>44. �4>E<<4?L=>5 >>?<G5EF6> 45F5= 6 
7DG??5 10. 
� >E=>6G E>45D64=<O �D>7D4<<O ?>?>65=O 6<4O E?>DF4, 6E>¬4OM<5 6 E565D=>5 <=>7>5>DL5 
(<5F4=<5 FO=7O=4 =4 E>D5=, 557 E ?4?>>= ?> ?5D5E5G5==>= <5EF=>¬EF<, FD>==>= =4F<>=4?L=O= 
?DO6>>, ?DO6>< G5D57 =4DFO, ?5D5FO7<64=<5 ?4?>< < <5F4=<5 F>?>D4 =4 44?L=>EFL). 
�E6>5=<5 ?D>7D4<<=>7> <4F5D<4?4 >EGM5EF6?O5FEO ?> FD5< =4?D46?5=<O<: 
- D<7>G?LFGD=>->74>D>6<F5?L=>5 - G>D5??5=<5 74>D>6LO, D476<F<5 >E=>6=OE 46<74F5?L=OE 
>4G5EF6: 6O=>E?<6>EF<, E<?O, 5OEFD>FO, ?>6>>EF<, 7<5>>EF<; 
- 6>E?<F4F5?L=>5 - 6OD454FO645F G D55U=>4 6>?N, G65D5==>EFL 6 E6><E E<?4E, EF>=>>EFL, 
=4EF>=G<6>EFL, 6O45D6>G, E?>>>=EF6<5; 
- >5D47>64F5?L=>5 - ?>?>?=O5F 7=4=<O, 4>F<6<7<DG5F <OE?<F5?L=GN 45OF5?L=>EFL >5GG4NM57>EO, 
D4EL<DO5F >DG7>7>D, FD5=<DG5F ?4<OFL < ?>7<G5E>>5 <OL?5=<5, =45?N44F5?L=>EFL < 6=<<4=<5. 
�E=>6=O<< D>D<4<< >5GG5=<O O6?ONFEO 7DG??>6O5 F5>D5F<G5E><5 < ?D4>F<G5E><5 74=OF<O. 
�4G<=4O E 10 ?5F, 6 >>=F5 >464>7> GG55=>7> 7>44, >5GG4NM<5EO E44NF ?D4>F<G5E><= 74GUF 4?O 
>?D545?5=<O GD>6=O D<7<G5E>>= ?>47>F>6?5==>EF<. 
- G>D5??5=<N =5D6=>-?E<E<G5E>>7> 74>D>6LO < D<7<G5E>>7> 74>D>6LO; 
- G>D5??5=<N >?>D=>-46<74F5?L=>7> 4??4D4F4; 
- 6>E?<F4=<N <>D4?L=>-6>?56OE >4G5EF6; 
- ?>6OL5=<N 46<74F5?L=>= 4>F<6=>EF< < ?D54G?D5645=<N G7D>7O D476<F<O 7<?>4<=4<<<. 
�D><56GF>G=4O 4FF5EF4F<O: ?D4>F<>4, >?D>E, E44G4 =>D<4F<6>6, F5EF<D>64=<5. 
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: GG4EF<5 6 E>D56=>64=<OE, E44G4 =>D<4F<6>6 
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�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�>?5=5>?» 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�>?5=5>?» D4EEG<F4=4 =4 1 7>4 74=OF<= E 45FL<< 
ED54=57> < EF4DL57> 6>7D4EF4 (12-18 ?5F). 
�5N5< G4E>6 6 7>4 E>EF46?O5F: 
140 G4E>6, E =545?L=>= =47DG7>>= 4 G4E>6, ?D< G5FOD5ED47>6OE 74=OF<OE ?> 1 G4EG 
�?O 1-7> 7>44 >5GG5=<O 3 1 7DG??4 (N=>L<) =5 <5=55 15 G5?>65>.                                          
2 7DG??4 (456GL><) =5 <5=55 15 G5?>65> 
 
� =4G4?5 7>44 5>?LL55 >>?<G5EF6> G4E>6 445FEO =4 D<7<G5E>GN ?>47>F>6>G, ?D<<5D=> 6 >5N5<5 =4 
60-70% >F 6E57> 6D5<5=<, 6> 6F>D>= ?>?>6<=5 7>44 G65?<G<FL >>?<G5EF6> G4E>6 =4 F5E=<G5E>GN 
?>47>F>6>G. 
�4 6F>D>< 7>4G >5GG5=<O ?D><EE>4<F ?>7<G5E>>5 ?D>4>?65=<5 <7GG5=<O F5E=<G5E>>7> < 
F4>F<G5E>>7> 4DE5=4?4 < D<7<G5E>>= ?>47>F>6?5==>EF< 74=<<4NM<EEO.  
�>-?D56=5<G >E=>6=>5 6=<<4=<5 G45?O5FEO D<7<G5E>>= < F5E=<G5E>>= ?>47>F>6>5.                 
�E>55==>EFLN ?D>7D4<<O O6?O5FEO 5U =4?D46?5==>EFL =5 F>?L>> =4 D476<F<5 E?>DF<6=>7> 
<4EF5DEF64, => < =4 >74>D>6?5=<5 45F5=, ?>76>?OO ?>E5M4FL 74=OF<O 6>E?<F4==<>4< E D47=>= 
D<7<G5E>>= ?>47>F>6>>= < D<7<G5E><<< E?>E>5=>EFO<<. 
 �>FG4?L=>EFL ?D>7D4<<O «�>?5=5>?» >5GE?>6?5=4 6OE>>>= ?>?G?OD=>EFLN < 6>EFD55>64==>EFLN 
44==>= <7DO 6 D47?<G=OE 5U ?D>O6?5=<OE G 45F5= < ?>4D>EF>>6. 
'G55=O5 <7DO: 'G4M<5EO 4>?6=O G<5FL ?D<<5=OFL: ?>?GG5==O5 =46O><, <7GG5==O5 EF>=><, 
F5E=<>G ?>44G< <OG4, F5E=<>G ?D<5<4 < ?5D544G <OG4, F5E=<>G =4?444NM57> G44D4. 
�D><56GF>G=4O 4FF5EF4F<O: ?D4>F<>4, >?D>E, E44G4 =>D<4F<6>6, F5EF<D>64=<5. 
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: GG4EF<5 6 E>D56=>64=<OE, E44G4 =>D<4F<6>6 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�4E>5F5>?»  
�<4 45OF5?L=>EF<: >5GG5=<5 =46O>4< E?>DF<6=>= <7DO 4?O 45F5= 6 6>7D4EF5 12-18 ?5F. �D>7D4<<4 
D4EEG<F4=4 =4 3 7>44 >5GG5=<O (1,2,3 7>4) ?D< ?>EF>O==>< E>EF465 7DG??. 
�5N5< GG55=OE G4E>6 3 4 G4E>6 6 =545?N. (�F>7> 140 G.).  
�4?>?=O5<>EFL >4=>= GG55=>= 7DG??O 315 G5?>65> - N=>L<. 15 G5?.-456GL>< 
� >>=F5 ?5D6>7> < 6F>D>7> 7>44 >5GG5=<O GG5=<> 4>?65= 7=4FL < G<5FL: F5E=<>G 557>?4E=>EF< =4 
74=OF<OE, F5D<<=>?>7<N <7DO, ?>6545=<5 <7D>>>6 6 74M<F5, ?D46<?4 <7DO, >4> >><??5>F>64FL 
>><4=4G, 65EFO EG4L<, >4> 6O?>?=OFL 74E?>=, F5E=<>G < F4>F<>G >5>D>=O. 6O?>?=OFL >><??5>E 
>5M5D476<64NM<E G?D46=5=<=, 6O?>?=OFL F5E=<G5E><5 M?5<5=FO < ?D<5<O <7DO, <7D4FL 6 
>><4=45. 
� >>=F5 FD5FL57> < G5F65DF>7> 7>44 >5GG5=<O: �=4FL: F5E=<>G 557>?4E=>EF< =4 74=OF<OE, 
F5D<<=>?>7<N <7DO, ?>6545=<5 <7D>>>6 6 74M<F5, ?D46<?4 <7DO, >4> >><??5>F>64FL >><4=4G, 
65EFO EG4L<, >4> 6O?>?=OFL 74E?>=, F5E=<>G < F4>F<>G >5>D>=O.             
'<5FL: 6O?>?=OFL >><??5>E >5M5D476<64NM<E G?D46=5=<=, 6O?>?=OFL F5E=<G5E><5 M?5<5=FO < 
?D<5<O <7DO, <7D4FL 6 >><4=45. 
�D><56GF>G=4O 4FF5EF4F<O: ?D4>F<>4, >?D>E, E44G4 =>D<4F<6>6, F5EF<D>64=<5. 
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: GG4EF<5 6 E>D56=>64=<OE, E44G4 =>D<4F<6>6 
�&� 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�O6=O= E?>DF» 

�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�O6=O= E?>DF» �<4 45OF5?L=>EF<: >E6>5=<5 
=46O>>6 ?5D546<65=<O =4 ?O64E, 6>7D4EF >5GG4NM<EEO 14-18 ?5F 
?D>7D4<<4 D4EEG<F4=4 =4 35 =545?L ?> 2 G4E4 6 =545?N. 1 7>4 >5GG5=<O 
�5M55 >>?<G5EF6> G4E>6 70. �D>7D4<<4 6>?NG45F 6 E55O E?54GNM<5 F5<O: GE>>D5==>5 
?5D546<65=<5 < ?O6=GN ?>47>F>6>G. �4?>?=O5<>EFL >4=>= GG55=>= 7DG??O 3 10 G5?>65>. � >>=F5 
>5GG5=<O,  >5GG4NM<5EO 4>?6=O >E6><FL < ?D<<5=OFL =4 ?D4>F<>5 45=EF6<O ?> ?5D546<65=<N =4 
?O64E < GE>>D5==><G ?5D546<65=<N. 
�D><56GF>G=4O 4FF5EF4F<O: ?D4>F<>4, >?D>E, E44G4 =>D<4F<6>6, F5EF<D>64=<5. 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�>46<6=O5 <7DO»  
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�<4 45OF5?L=>EF<: >E6>5=<5 =46O>>6 <7DO 6 6>?5=5>?, <<=<-DGF5>?.  
�>7D4EF >5GG4NM<EEO 12 3 18 ?5F.  
�>7D4EF 7-8 ?5F: 
�D>7D4<<4 D4EEG<F4=4 =4 1 7>4 >5GG5=<O,  >5N5< GG55=OE G4E>6 3 2 G. 6 =545?N.  
�>7D4EF 12-18 ?5F 
�<4 45OF5?L=>EF<: >E6>5=<5 =46O>>6 <7DO 6 <<=<-DGF5>?, 6>?5=5>?, 54E>5F5>?. �>7D4EF 
>5GG4NM<EEO 12 3 18 ?5F. �D>7D4<<4 D4EEG<F4=4 =4 1 7>4 >5GG5=<O  >5N5< GG55=OE G4E>6 3 2 G. 6 
=545?N. �F>7> =4 70 G4E>6).  
�4?>?=O5<>EFL >4=>= GG55=>= 7DG??O 3 10 G5?>65>. 'G4M<5EO 4>?6=O 7=4FL: �D>EF5=L<5 ?D46<?4 
<7D. �5EFO EG45=. �E=>6=O5 EF>=><  DGF5>?<EF4 < 6>?5=5>?<EF4 'G55=O5 <7DO. 'G4M<5EO 4>?6=O 
G<5FL ?D<<5=OFL: ?>?GG5==O5 =46O><, <7GG5==O5 EF>=><, F5E=<>G 6545=<O <OG4, F5E=<>G >F5>D4 
<OG4, F5E=<>G ?>44G< <OG4, F5E=<>G ?D<5<4 < ?5D544G <OG4, F5E=<>G =4?444NM57> G44D. 
�D><56GF>G=4O 4FF5EF4F<O: ?D4>F<>4, >?D>E, E44G4 =>D<4F<6>6, F5EF<D>64=<5. 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 ��� «.=4D<55F» 
�<4  45OF5?L=>EF<: 6>5==>-?4FD<>F<G5E><= >?G5, 6 >>F>D>< ?>4D>EF>< ?D<>5D5F4NF =D46EF65==O5, 
<>D4?L=>-?E<E>?>7<G5E><5 < D<7<G5E><5 >4G5EF64, 4 F4>65 E?5F<4?L=O5 ?D>D5EE<>=4?L=O5 7=4=<O 
< G<5=<O, =5>5E>4<<O5 5G4GM5<G 74M<F=<>G �F5G5EF64, 7D4644=<=G, ?4FD<>FG. 'G4EF=<>4<< 
6>5==>-?4FD<>F<G5E>>7> >DG6>4 «.=4D<55F»» O6?ONFEO GG4M<5EO 12-18 ?5F.     
$4EEG<F4=4 =4  4  G4E46 =545?N, 140 G. 6 7>4. �4=OF<O ?D>E>4OF  4 D474 6 =545?N ?> 1 G. 
�4?>?=O5<>EFL 7DG??O EFD>56>= ?>47>F>6>< 4> 30 G5?. 
�4<5>?55 646=O<< ?D54?>?4745<O<< D57G?LF4F4<< D45>FO ?> D54?<74F<< ?D>7D4<<O <>6=> 
EG<F4FL: EF4=>6?5=<5 ?<G=>EF< GG4M57>EO >4> 7D4644=<=4 $>EE<<, 7>F>6>7> 6EF4FL =4 74M<FG 
$>4<=O; <>?>4U6<, ?D55<EF65==>EFL; E>744=<5 GE?>6<= 4?O D4E>DOF<O D55U=>4 >4> 74D<>=<G=> 
D476<64NM5=EO ?<G=>EF<, E 5>?LL<< F6>DG5E><< ?>F5=F<4?><; ?D<6?5G5=<5 >4> <>6=> 5>?LL57> 
>>?<G5EF64 45F5= < ?5447>7>6 > 4>F<6=O< D>D<4< 7D4644=E>>7> < ?4FD<>F<G5E>>7> 6>E?<F4=<O, 
E?>E>5EF6GNM<E E>ED4=5=<N ?D55<EF65==>EF< ?>>>?5=<=. � ?D>7D4<<5 ?D54GE<>FD5=> >5GG5=<5 
6>5==>-?D<>?44=O< 6<44< E?>DF4 F4><< >4>: E?>DF<6=>5 >D<5=F<D>64=<5 =4 <5EF=>EF<, EFD5?L54 
<7 ?=56<4F<G5E>>= 6<=F>6><, E5>D>4-D475>D>4 46F><4F4, E?>DF<6=4O < EFD>564O E>4L54. 
�D><56GF>G=4O 4FF5EF4F<O: F5EF<D>64=<5 
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: %44G4 F5EF>6 >><??5>E4 �&�, GG4EF<5 6 
D4=>==OE ?5D65=EF64E  «�4FD<>F», «$G556<». 
 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O  ?D>7D4<<4 «�5=F4?L=4O 4D<D<5F<>4» 
�<4 45OF5?L=>EF<: D54?<74F<O G=<>4?L=>= <5F>4<>< 74D<>=<G=>7> D476<F<O G<EF65==OE < 
F6>DG5E><E E?>E>5=>EF5=. �4 =4G4?L=OE MF4?4E 74=OF<= <5=F4?L=>= 4D<D<5F<>>= <E?>?L7G5FEO 
454>GE (EG5FO). � 44?L=5=L5< 45F< ?D><76>4OF 6OG<E?5=<O 6 G<5, E>74464O <OE?5==O= >5D47 
454>GE4. �5=F4?L=4O 4D<D<5F<>4 E?>E>5EF6G5F:-D476<F<N E>6<5EF=>= D45>FO ?D46>7> < ?56>7> 
?>?GL4D<= <>774;-=4<5>?55 ?>?=><G D4E>DOF<N <=F5??5>FG4?L=>7> < F6>DG5E>>7> ?>F5=F<4?4;-
D476<F<N G65D5==>EF< 6 E>5EF65==OE E<?4E;-G?GGL5=<N 6=<<4F5?L=>EF< < >>=F5=FD4F<<;-
D476<F<N E?>E>5=>EF5= > <7GG5=<N <=>EFD4==OE O7O>>6.�?NG56O<<    ?D5<<GM5EF64<<  74=OF<=  
?>  <5=F4?L=>=  4D<D<5F<>5  O6?ONFEO  6>?NG5=<5 6<45><4F5D<4?>6 < <=F5??5>FG4?L=OE <7D, 
D476<64NM<E 6=<<4F5?L=>EFL < F6>DG5E><5 E?>E>5=>EF<, 4 F4>65 7DG??>6OE  <  <=4<6<4G4?L=OE  
G?D46=5=<=,  =4?D46?5==OE  =4  ?>?=>F5==GN    D45>FG  ?D46>7>  <  ?56>7> ?>?GL4D<= <>774. 
�5M55 >>?<G5EF6> G4E>6 ?> ?D>7D4<<5 3 140 G4E>6. �>7D4EF >5GG4NM<EEO 7-9 ?5F. �4=OF<O 
?D>E>4OF  2 D474 6 =545?N ?> 2 G. �4?>?=O5<>EFL >4=>= GG55=>= 7DG??O 3 10 G5?>65>. 
$57G?LF4F >E6>5=<O ?D>7D4<<O: D476<F<5 <4F5<4F<G5E><E E?>E>5=>EF5= 45F5= 6 <?44L5< 
L>>?L=>< 6>7D4EF5. 
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: 74G5F. 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O  ?D>7D4<<4 «�?<<4F<G5E>4O L>4FG?>4» 
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�<4 45OF5?L=>EF<: �D>7D4<<4 «.=O= <EE?54>64F5?L» O6?O5FEO <=F57D<D>64==>=, F4> >4> 
>E=>6O645FEO =4 E<=F575 >?NG56OE ?>=OF<= <7 >5?4EF< >>DG64NM57> <<D4, M>>?>7<<, 75>7D4D<<, 
<<D4 6<6>F=OE. �<55F E>F<4?L=GN =4?D46?5==>EFL E ?D4>F<G5E>>= >D<5=F4F<5=. 
�D>7D4<<4 D4EEG<F4=4 =4 1 7>4 >5GG5=<O. �4=OF<O ?D>6>4OFEO >4<= D47 6 =545?N ?> 1 G. (6E57> 70 
G.). �>7D4EF >5GG4NM<EEO 12-16 ?5F. �4?>?=O5<>EFL 7DG??O 4> 10 G5?. 
� D57G?LF4F5 ?D>E>645=<O 4>?>?=<F5?L=>= >5M5D476<64NM5= ?D>7D4<<O «�?<<4F<G5E>4O 
L>4FG?>4» GG4M<5EO 5G4GF 7=4FL: 
ý >E=>6=O5 >E>55==>EF< ?D>6545=<O <EE?54>64=<= D47=OE 6<4>6; 
ý <5F>4O <EE?54>64=<O; 
ý ?D46<?4 6O5>D4 F5<O < >5N5>F4 <EE?54>64=<O; 
ý >E=>6=O5 ?>7<G5E><5 >?5D4F<<, <E >F?<G<F5?L=O5 >E>55==>EF<; 
ý ?D46<?4 GE?5L=>= ?D575=F4F<< D45>FO. 
'G4M<5EO 5G4GF 7=4FL: 
ý GF> F4>>5 ?D<D>44; 
ý 6<64O < =56<64O ?D<D>44 (?D<<5DO); 
ý =56<64O ?D<D>44: E>?=F5, 6>44, 6>74GE 3 >E=>6=O5 <EF>G=<>< 6<7=<; 
ý ??4=5FO E>?=5G=>= E<EF5<O; 
ý E6>=EF64 6>4O; 
ý E>EF46 6>4O; 
ý E>EF46 6>74GE4; 
ý E>EF46 < E6>=EF64 ?5E>4, 7?<=O, ?>G6O; 
ý <EE?54>64=<5 ?>7>4O 
$>D<O ?D>65D>< D57G?LF4F>6: F5EF<D>64=<5, ?D>5>F=4O D45>F4 6 >>=F5 >464>= G5F65DF<.  
 
� E>F<4?L=>-7G<4=<F4D=>= =4?D46?5==>EF< D54?<7G5FEO 34>?>?=<F5?L=OE >5M5D476<64NM<E 
?D>7D4<<O: 
�>?>?=<F5?L=4O >5M5D476<64NM4O ?D>7D4<<4 «�D>D?D>5O» >E=>64=4 =4 E<EF5<=>< ?>4E>45 
?E<E>?>7>-?5447>7<G5E>>7> E>?D>6>645=<O E>F<4?<74F<< < ?D>D5EE<>=4?L=>7> E4<>>?D545?5=<O 
>5GG4NM<EEO 6 6>7D4EF5 >F 14 4> 16 ?5F. 
�D>7D4<<4 >55E?5G<645F ?E<E>?>7>-?5447>7<G5E>>5 E>?D>6>645=<5 E>F<4?<74F<< < 
?D>D5EE<>=4?L=>7> E4<>>?D545?5=<O ?>4D>EF>>6.  
�D>7D4<<4 D4EEG<F4=4 =4 1 7>4 >5GG5=<O. �4=OF<O ?D>6>4OFEO 2 D47 6 =545?N ?> 1,5 GG55=><G G4EG. 
�5M<= >5N5< ?D>7D4<<O 105 G4E>6.  
�>7D4EF >5GG4NM<EEO 14-16 ?5F.  'E?>6<O =45>D4 6 >5N54<=5=<5: ?D<=<<4NFEO 6E5 65?4NM<5.  
�4?>?=O5<>EFL 6 7DG??4E E>EF46?O5F 12-15 G5?>65>. 
�D>7D4<<4 E>EF><F <7 E?54GNM<E 5?>>>6: 
1. &5<4F<G5E><5 74=OF<O. 
2. ->E>GDE<<. 
3. �4EF5D 3 >?4EEO. 
4. �D>D>D<5=F4F<>==O5  <7DO. 
5. &D5=<=7>6O5 74=OF<O «�O5>D 74 F>5>=». 
->E>GDE<< ?D>6>4OFEO =4 ?D54?D<OF<O < 6 GG55=O5 746545=<O ?D>D5EE<>=4?L=>7>  >5D47>64=<O 7. 
/D>E?46?O (?D<?>65=<5 1). �O5>D <5EF4 ?D>6545=<O M>E>GDE<< >EGM5EF6?O5FEO E GG5F>< 74?D>E4 
>5GG4NM<EEO < 6 746<E<<>EF< >F 4>7>6>D5==>EF< E >D74=<74F<5=. � E6O7< E MF<< 6>7<>6=4 
>>DD5>F<D>6>4 ?>E?54>64F5?L=>EF< 74=OF<=. 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O  ?D>7D4<<4 ?D54<5F=>7> >DG6>4  «�5?5=O= ?4FDG?L» 
�<4 45OF5?L=>EF<: �D>7D4<<4 ?D<764=4 E?>E>5EF6>64FL M>>?>7<G5E>><G, =D46EF65==><G, 
MEF5F<G5E>><G, M>>=><<G5E>><G 6>E?<F4=<N >5GG4NM<EEO, 6E5EF>D>==5<G D476<F<N ?<G=>EF<, 
D>D<<D>64=<N <=F5D5E4 > ?D54<5F4<.   
�5M55 >>?<G5EF6> G4E>6 ?> ?D>7D4<<5 3 70 G4E>6 ( 2 G. 6 =545?N).  
�>7D4EF >5GG4NM<EEO 11-16 ?5F. �4=OF<O ?D>E>4OF  2 D474 6 =545?N ?> 2 G. �4?>?=O5<>EFL >4=>= 
GG55=>= 7DG??O 3 4> 10 G5?>65>. � >>=F5 >5GG5=<O GG5=<> 4>?65= G<5FL ?D<<5=OFL E6>< 
<EE?54>64F5?LE><5 E?>E>5=>EF<, ?GF< <E D476<F<O, E4D4>F5D<EF<>G ?>=OF<=: F5<4, ?D54<5F, >5N5>F 
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<EE?54>64=<O. '<5FL =4E>4<FL 7=4G<<O5 ?<G=>EF=O5 >4G5EF64 <EE?54>64F5?O, D476<64FL G<5=<5 
=4E>4<FL ?D54<5FO ?> <E >?<E4=<N, =47=4G5=<N.  
�D><56GF>G=4O 4FF5EF4F<O: �=4?<7 E6>5= ?D>5>F=>= 45OF5?L=>EF< 
$>D<O ?D>65D>< D57G?LF4F>6 >E6>5=<O ?D>7D4<<O: �OEFG??5=<O GG4M<EEO  E ?D575=F4F<5= E6><E 
?D>5>F>6. �OE>4 =4 D57<>=4?L=O5, 6E5D>EE<=E><5 <EE?54>64F5?LE><5 < M>>?>7<G5E><5 >>=>GDEO. 
 
�>?>?=<F5?L=4O >5M5D476<64NM4O  ?D>7D4<<4 «�46O>< 5G4GM57>» 
�<4 45OF5?L=>EF<: $47?<G=O5 D>D<O D45>FO, E?>E>5EF6GNM<5 4>F<6=><G 6>6?5G5=<N ?>4D>EF>>6 
6 GG55=>-6>E?<F4F5?L=O= ?D>F5EE < 5>?55 5OEFD><G 4>EF<65=<N ?5447>7<G5E><E F5?5= 74 EG5F 
?D<>5D5F5=<O GG4EF=<>4<< E>5EF65==>7> >?OF4 6 <7D>6OE < FD5=<=7>6OE D>D<4E D45>FO. $476<F<5 
>4G5EF6 GE?5L=>= ?<G=>EF< 4>EF<745FEO 74 EG5F >>DD5>F<< ?<G=>EF=OE >4G5EF6 ?>4D>EF>>6, 
<5L4NM<E 4>EF<65=<N 6<7=5==>7> GE?5E4 (=5G65D5==>EFL 6 E555, =5445>64F=4O E4<>>F5=>4, 
47D5EE<6=>EFL, ?>6OL5==O= GD>65=L FD56>6=>EF<.) < D476<F<< ?<G=>EF=OE >4G5EF6, 
E?>E>5EF6GNM<E 4>EF<65=<N 6<7=5==>7> GE?5E4 (G65D5==>EFL, 445>64F=4O E4<>>F5=>4, 
F>?5D4=F=>EFL) 
�D>7D4<<4 D4EEG<F4=4 =4 70 G4E>6 6 7>4 (2 G4E>6 6 =545?N), 74=OF<O ?D>E>4OF 6 2-E 7DG??4E, 
6>7D4EF >5GG4NM<EEO 14-17 ?5F. 
%D>> D54?<74F<< ?D>7D4<<O 1 7>4. 
�6<445<O5 D57G?LF4FO < E?>E>5O <E ?D>65D><. 
� >>=FG >5GG5=<O >5GG4NM<5EO 4>?6=O 
7=4FL: 
->E=>6=O5 D>D<O < ?D<U<O D45>FO 6 >>??5>F<65; 
G<5FL: 
- 4=4?<7<D>64FL < >F5=<64FL <45<, EG645=<O, <=D>D<4F<N, >F5<D4FL =4<5>?55 
?D>4G>F<6=O5 <7 =<E; 
-?D>5>F<D>64FL 45OF5?L=>EFL >>??5>F<64, E>5EF65==GN; 
- G<5FL D45>F4FL 6 >><4=45; 
-G<5FL 6<45FL >5MGN >4DF<=G E<FG4F<<. 
%?>E>5O ?D>65D>< D57G?LF4F>6. 
�E=>6=O<< E?>E>54<< >F5=>< D54?<74F<< ?D>7D4<<O O6?ONFEO E?54GNM<5 MF4?O 
>>=FD>?O: 
1. �4G4?L=O= (E5=FO5DL); 
2. &5>GM<= (6 F5G5=<5 6E57> ?5D<>44, ?> D4745?4< ?D>7D4<<O); 
3. �D><56GF>G=O= (45>45DL); 
4. �F>7>6O= (<4=). 
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/<4?LE><= D4=>=, 
E. %5OE4, G?. 
,>>?L=4O, 4.5 
�45<=5F 7 179, 
(7183 ?> 

�?5D4F<6=>5 
G?D46?5=<5 

%6<45F5?LEF
6> > 
7>EG44DEF65
==>= 
D57<EFD4F<< 
?D464 =4 
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?D>7D4<<4 
«�D45654» 
6>7D4EF 45F5= 
12-18 ?5F 
 
=4?D46?5==>EFL 
E>F<4?L=>-
?5447>7<G5E>4O 
�>?>?=<F5?L=4O 
>5M5D476<64NM4O 
?D>7D4<<4 
«,>>?4 
6GD=4?<EF<><» 
6>7D4EF 45F5= 
14-18 ?5F 

%FG? GG5=<G5E><=-24 
�4D4<=4-1 
&N?L 3 3 
�4<5D5>5= - 1 
�><?LNF5D 6 >><??5>F5 - 1 
�D>5>F>D NEC - 1 
->D4= =4EF5==O= - 1 
%F>? >><?LNF5D=O= - 1 
�>E>4 >?4EE=4O 3 1 
%65F<?L=<> ?N<<=5EF5=F=O= 4?O L>>?L=>= 4>E><-1 
&G<54 4G4<F>DE>4O 3 1 
�4D=<FGD <555?L=O= - 1 
%F5=4O-5 
�� - 1 
�4D=<FGD <555?L=O= 3 1 
'6?46=<F5?L 6>74GE4 Stadler Form -1 
�5<>=EFD4F<>==>-=47?O4=O5 ?>E>5<O, EF5=4O, &�$, 
GG55=>-<5F>4<G5E>4O < E?D46>G=4O ?<F5D4FGD4, 
>>=FD>?L=>-<7<5D<F5?L=O5 <4F5D<4?O. 

F5E?4E?>DFG 2008 
7.) 

744=<5 
L>>?O >F 
19.11.2015 
7 89�� 
359723, 
55EED>G=>5 

5.12 =4?D46?5==>EFL 
5EF5EF65==> - =4GG=4O 
 
�>?>?=<F5?L=4O 
>5M5D476<64NM4O 
?D>7D4<<4 
«,>>?L=>5 
?5E=<G5EF6> «�5?5=O= 
?4FDG?L» 
6>7D4EF 45F5= 
14-18 ?5F 

�4<<5=>64=<5 >45<=5F4: �45<=5F E<<<< < 5<>?>7<< 
�5D5G5=L >E=>6=>7> >5>DG4>64=<O: 
�O7><5 EFG?LO-2 
'G5=<G5E><5 EFG?LO-24 
�4DFO-12 
�5<>=EFD4F<>==O= EF>?-1 
'G<F5?LE><= EF>?-1 
�>E>4-1 
%65F<?L=<> ?N<<=5EF5=F=O= 4?O L>>?L=>= 4>E><-1 
�OFO6=>= L>4D-1 
�><?LNF5D=O= EF>?-1 
�G4<F>DE>4O FG<54-1 
,>4DO 6 >?4EE5 (74EF5>?5==O5)-3 
%F>? (E65F?O= 6 ?45>D4F>D<<) ( >45 5<>?>7<<)-1 
,>4D 6 ?45>D4F>D<< (74EF5>?5==O5)-1 
%5=D <5F4??<G5E><=-1 

/���, 
/<4?LE><= D4=>=, 
E. %5OE4, G?. 
,>>?L=4O, 4.5 
�45<=5F 7153  
(7 156 , F5E 
?4E?>DF 208 7.) 

�?5D4F<6=>5 
G?D46?5=<5 

%6<45F5?LEF
6> > 
7>EG44DEF65
==>= 
D57<EFD4F<< 
?D464 =4 
744=<5 
L>>?O >F 
19.11.2015 
7 89�� 
359723, 
55EED>G=>5 
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,>4DO -3 
,>4D <5F4??<G5E><= - 1 
&45?<F4 =4EF5==4O «�5D<>4<G5E>4O E<EF5<4 E<<<G5E><E 
M?5<5=F>6»-1 
�4EF5==O= ??4>4F «$4EF6>D<<>EFL E>?5= ><E?>F < 
>E=>64=<=»-1 
�4EF5==O= ??4>4F «�>D4E>4 <=4<>4F>D>6»-1 
�4EF5==O= ??4>4F «-?5>FD>E<<<G5E><= DO4 4>F<6=>EF< 
<5F4??>6»-1 
�4EF5==O= ??4>4F «'7>?>> >?4EE4»-1 
�4EF5==O= ??4>4F « �4G>4 < 6<7=L»-1 
%>5?5F G5?>65>4-1 
'6?46=<F5?L 6>74GE4 Stadler Form -1 
�<45><47=<F>D>=-1 
�>=<F>D-1 
%<EF5<=O= 5?>> - 1 
���-1 
�>?>=><-1 
->D4=-1 
�>>G<5=F->4<5D4-1 
�>GF5G>-25 
�474 4?O ED4=5=<O, 74DO4>< 3 1 
�=F5D4>F<6=4O 4>E>4 - 1 
�D<=F5D HP LJ 1006 3 1 
%?4=4-?D>5>F>D 3 1  
�<4?D>5>F>D 3 1 
�D>5>F>D - 1 
�<>D>?45>D4F>D<O 4?O E<<<G5E><E M>E?5D<<5=F>6 3 1; 
�45>D4F>D=O= >><??5>F 4?O =4G4?L=>7> >5GG5=<O E<<<< 
3 1; 
�45>D 4?O ED4=5=<O D54>F<6>6 3 1; 
�D5?4D4FO ?> 7>>?>7<< 3 1; 
�>??5>F<O =45>D4 <G?O65= >6>M5= < ??>4>6 3 1; 
�>??5>F<O ?D54EF46<F5?5= >FDO44 =4E5>><OE -1; 
�>??5>F<O D4>>6<=O <>??NE>>6 3 1; 
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�>??5>F<O >5<F4F5?5= <>DE>>7> 4=4 3 1 
�>??5>F<O D>D<O E>ED4==>EF< <E>>?45<OE D4EF5=<= < 
6<6>F=OE 3 1; 
�G?O6< F65F>>6 ?> 5<>?>7<<, >?5F>< 7<4DO, < F.4. 3 1; 
�>45?< 4???<>4F<< =4E5>><OE, D476<F<O ?F<F < 
<?5>>?<F4NM<E 3 1; 
�5<>=EFD4F<>==>-=47?O4=O5 ?>E>5<O, EF5=4O, &�$, 
GG55=>-<5F>4<G5E>4O < E?D46>G=4O ?<F5D4FGD4, 
>>=FD>?L=>-<7<5D<F5?L=O5 <4F5D<4?O. 
'G55=>-<5F>4<G5E><5 <>4G?< STA >E>F=<>< 74 
<<>D>54<< 2.0 3 1 
'G55=>-<5F>4<G5E><5 <>4G?< STA <O?L=4O >?5D4 - 1 

 


